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Which among the following (Provision — Part of
the Constitution) is not correctly matched?

(@) The Union Territories — Part VIII

(b) The Scheduled and Tribal Areas — Part X

(¢) Tribunals — Part XI

(d) Official Language — Part XVII

il

frafoafea & & a9 a1 (s — wfuE &1
9HT) el gHfera w8l 87

(a) ST ST &= — AT VI ;

(b) SIfad 3R ST &5 — | X

(c) SFforHROr — WY XI

(d) TSTHTST — 9T XV

Match list-1 with list-ll and select the correct 2. aEI—I B G-Il ¥ Faferd Hifore Tom gy @
answer using the code given below the lists : Hrr faT U e | ¥El SR B gAY —
List - I i — |
(A) Article — 324 (A) T — 324
(B) Article — 315 (B) 3T — 315
(C) Article — 280 (C) T — 280
(D) Article — 338 (D) 325G — 338
List - 11 A —
(1) National Commission for Schedule Castes (1) TSR AT S AT
(2) Finance Commission (2) for emar
(3) Public Service Commission (3) il WaT AT
(4) Election Commission (4)Frat= 3T
Code - e —
(@) A-(3), B-(2), C-(4), D-(1) (a) A-(3), B-(2), C-(4), D-(1)
(b) A-(4), B-(3), C-(2), D-(1) (b) A-(4), B-(3), C-(2), D-(1)
(¢) A-(3), B-(2), C-(1), D-(4) (¢) A-(3), B-(2), C-(1), D-(4)
(d) A-(1), B-(3), C-(4), D-(2) (d) A-(1), B-(3), C-(4), D-(2)
Consider the following events and arrange these 3 f=faRaa aearRl ) farR BT T = 98
in correct chronological order starting from the PIATEHA H FIRIT PIOY, Ta U8l A TdR
earliest to the last activity — RS fafafy g —
(1) Appointment of the Drafting Committee (1) 9T GRRT & Prgfr
(1) Indian Constitution was adopted and enacted (1) R REE @ :.mﬁw e R
(Ill) Date of commencement of Indian
_Constitution e
(V) Constitution Assembly first met (1) *Refrer W aerT AT & 1 fafr
Select the correct answer from the code given (IV) SfRETT &1 Y g2r doh
below — I AT 1Y e | I SR b1 AT P —
Code - ®e — e
@ m, u,1,1v (®) Iv, 1, 1, 1 (@ 1, u, 1, 1v () 1v, 1, 11, 11
©) 1,11, 1v, 1 @ v, 1,1, m © 1,10, 1v, @ v, 1,1,
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Given below are two statements, one is labelled 4
as Assertion (A) and other as Reason (R) - TER B HROT (R) BT 7T & —
Assertion (A) — The President can recommend to SRYPe (A) — el Ioa @ T geen @
the Parliament to change the RreiR &
boundary of any stateg after W BT éﬁT 8
seeking views of the concerned IR gwa forw wﬁ' Hafer
Legislature of that state on the W B frTed gRT SS9
subject within specified period. yd R fUR te @™ sEf
Reason (R) — It is not mandatory for the President P WAR W B & |
to accept the proposal of the SR (R) — TURT FI 9 99 FuTHSA B
i concterned State Leg;llatur(:i o m e S R
bzlziv_ e correct answer using the code given 1 R T 3 9 T IR B R —
(a) Both (A) and (R) are true and (R) is correct a) (A) 3 (R) ST € & 3R (R), (A) BT Hel
explanation of (A) ST DT %_
(b) Both (A) and (R) are true but (R) is'not correct b) (A) SiI® (R_) THl ¥ ¥ fbeg (R), (A) 1 el
explanation of (A) AT TE BT &
(c) (A)is true but (R) is false ©) (A) wg 8 foeg (R) Terd 8
d) (A) is false but (R) is true d) (A) Tera & fb=g (R) Wed ®
With reference of the election of the Vice - 5 9Rd & SWgdfd &1 [Raleq, [ dar=
~ President of India, which is declared void by the TS gRT I Oifd far T ®, @ 6t A,
Supreme Court of India, which of the following e & B /Y B & /¥
statement/s is/are corre(':t? ; . ) 3 w7 ¥ 39 TPN B T Uj
(1) The acts done by him as Vice — President - 2 '
before such declaration are considered valid. S9S g {6y T HEfAf 9 B 2|
(2) The acts done by him as Vice — President on (2) SRIEUT & w9 H §9 UHR B GIY0M BN
the day of such declaration are not considered & feq S9a gn fey v SRR a7 A8
valid. B ¥
Select the correct answer from the code glven Y T T FE W T SR BT AT PRI —
below - 2y
Code - G
(@) only 1 (b) Only 2 (@) ®ael 1 b) HaeT 2
(¢) Both 1 and 2 (d) Neither 1 nor 2 (©) BT 1 7o 2 (@ F a1 17 2
Who among the following is ‘the first women 6. & & YoM wfeem wax 771 § | 319 &7
Speaker in Lok Sabha? a) gfewr aifea (b) 3fifar Rig
(a) Pratibha Patil. (b) Urmila Singh
(c) Meira Kumar (d) Sushma Swaraj ©) AR Ll IS R
Which one of the following pairs (Schedule - 7- = g # & @==r g™ (Wfaus &1 s/l
Subjects) is not correctly matched? ' — fva) W Wl T8 22
(@) Third S‘chedule - Forms of Oaths or S SR — e A GRS @ 7oy
Affirmations : :
(b) Eight Schedule — Languages (b) STSl SR — T
(c) Ninth Schedule — Allocation of seats in the (c) 4T ST — XToTHHT H WA P AT
Council of States (d) THdt YA — < URGAT B IMR W
(d) Tenth  Schedule - Provisions as to favedl
disqualification on ground of defection
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8. The Constitution of India initially permitted the 8  WRAd™ Hfaw 7 yRy # fbw @y & fow Wi
use of English language for all official purposes RPN Iegdi B UG 9191 & IGIRT & forg
for a period of - AR ga @ ofi?

(a) 5 years (b) 10 years (a) 599 (b) 10 9%

(€) 15 years (d) 20 years (c) 1599 (d) 20 a9

9.  Given below are two statements, one is labelled 9 ¥ 31 BT ¥ Rrd 9 wH @ GT&IH?QFT (A)
as Assertion (A) and other as Reason (R) — aiR @-Q BT BROT (R) HET TAT & —

Assertion (A) — The President is a part of the R (A);— T

Parliament. -

Reason (R) — A bill passed by the two Houses of PR (R)— & F AT Al gRT IR e
the Parliament cannot become a RTeEUfc @ HEArd @ A DI T8l
law without the assent of the I FHaT &

President. 4 v T o @ e e

Select the correct answer using the code given

below - i L

(a) Both (A) and (R) are true but (R) is not correct (a) (A) 3R (R) AT w1 €, g (R), (A) B wE

explanation of (A) careHT el P 8

(b) Both (A) and (R) are true and (R) is correct (b) (A) SR (R) THT W € 3R (R), (A) 3T |

explanation of (A) AT Bl §

(¢) (A) is true but (R) is false (©) (A) & & fog (R) Tert &

(d) (A)is false but (R) is true (d) (A) e © fb=g (R) 9T ©

10. With reference to Union Finance ‘Commission, 10- @& fax amdmm & wed #, fr=foRed & @
which of the following statement/s is/are PITAT /F BT Hol & /87
Correct? . (1) =T ST ¥ Us oreel o B WER B S
(1) Finance Commission has @ Chairman and six (2) TE ST FRE DAY ST @Y TR ARl

members. 8

(2) It submits its report to the NITI Aayog.

Select the correct answer using the code given i e e b

below - T

Code - SR

(@) Only 2 (b) Both 1 and 2 (2) Baet 2 (b) 17d 2 I

(c) Only 1 (d) Neither 1 nor 2 () PaeT 1 (d) 9 &1 197 & 2
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Consider the following statements concerning
the powers of the Supreme Court to issue certain
writs to stop violation of Fundamental Rights —
(1) The Supreme Court has power to issue writs
like Habeas Corpus, Mandamus, Prohibition,
-Quo Warranto and Certiorari which is
appropriate for the enforcement of
Fundamental Rights.

(2) Parliament may by law empower any other
court to exercise within its jurisdiction the
powers given to Supreme Court.

Which of the above mentioned

statement/statements is/are correct?-

Select the correct answer from the code given

1. ﬁﬁﬁmwaﬁﬁmma%w

e @ forg Re o) o @ e @& ey H

<1 $d fag Ty 87

(1) STaaH R BT I8 Ufdd uew & {6 98
g8 Uycuefleror, Ry, ufome, SifPER —
g1 AR Sawer Re, o A 4o AfSieRT @
A w4 @ forg wyfe @), 99 Re &1y
B Hpal © |

(2) 9IS BT AWER & &5 98 S 91 B fbeht
AN T Bl U JMOFINRG R
Aramell & Widw Seaaq ATy 3 4 T8 39
SIfdRTal 7 WANT HY G © |

SWRITT HUA § D91/ SR FEl 8 /87

o Ry 1w @ & 4 W& SR B TIA

below - aﬁﬁ;rq £

Code -

(a) Both 1 and 2 (b) Only 1 1 aﬁv PR b) Tad 1

(c) Only 2 (d) Neither 1 nor 2 (c ) el 2 d) @ 147 & 2

12. \With reference to the Attorney General of India, 12- ¥Ra & #HeUARl & '\'ﬁ‘ﬁ H fforRad 33917'1\(

which of the following statement/s is/are ¥ Y B A/ e B/ i

Corfectes . i 2 (1) TERIRETS B U W W@ Ak A P

(1) A person is appointed as Attorney General, ) o i A
who is qualified to be appointed as a Judge of ‘
the Supreme Court. f 'gari' g @ forg sifed @

(2) The Attorney General can be removed (2) FETFITHETE) BT S US| Sl ufhar
through the same process as the Judges of TCTT o 9Hhdl & oY 6 Swaaq e &
the Supreme Court. ; raefrerf @r | ;

Select the correct answer from the code given M Ry T TE § GE SR B 7T ARG —

below - i

Code - L

(@) Only 1 (b) Only 2 (@) W 1 (b) et 2

(c) Both1and 2 (d) Neither 1.nor 2 (c) QT 17 2 (o) =1 <y 1997 & 2

13. With reference to the composition of the 13- WRd & U@ ¥od ¥ faur uRye & e & weH

Legislative Council in/a st;ate of India, which of the ¥ e A W B/ FUF 98 2/

following statement/s is/are correct? ﬁ. A ; R

(1) In the Legislative Council there may not be (1) 7> ' ¥ 99 e !l
more than one-third members of the total @l R |l @ U% fass 9 e a5
membership of the Legislative Assembly of 81 & 9ad = |
that state. : o

- , FH ATl

(2) The Legislative Council of a state must have at ()39 I 1 et oRws F $H
least forty members in it. W a¥d B B ARy |

Select the correct answer from the code given 4 foy Y FHe | HE IR BT AT By —

o %E -

ode -
(a) Only 1 (6) Only 2 (8) Pae 1 b) Bae 2
(c) Both1land 2 (d) Neither 1 nor 2 (©) ST 17 2 d) T a1 1+ & 2
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4. with reference to the representation of Uttar 14 ¥Hg # SR We¥ @ Ufafafdea & wed #
Pradesh in Parliament, which of the following fer=forRaa seEl § | P wa) & /&2
statement/s is/are correct? . (1) T T B 10 SR R B 31 0 o
(1) Uttar Pradesh has 31 seats allotted for Rajya :

Sabha. gl
(2) 80 members of Lok Sabha are elected from (2) AHETT & 80 W TR oW W fAaifE
Uttar Pradesh. B &
Select the correct answer using the code given S Fyu i T X T R gﬁn 22
below —
Code - e
(a) Only 1 (b) Only 2 . (a) Baet 1 (b) et 2
() Both 1and 2 (d) Neither 1 nor 2 . (0 T e 2 () 7 o 197 & 2

15. With reference to the post’s in Secretariate of the 15 W¥g @ wffarera & uel @& ded & iy 4 @
Parliament, which of the following statement/s BT/ BIT GE & /&7
i(s;/)arg correct? t ! i e (1) §95 & 7% W P aRa & fru

ommon posts may be created for the .
Secretariate of each House of Parliament. wfefer el a1 '\'iﬁlﬁ feam i et 2 |
(2) The Parliament has right to regulate the (2) HaE B s B ff weT @GR
service conditions of Secretariate staff of P @ 991 Gl b el e @
either House of it. IRBR eT 2
z:llzc; ihe correct answer from the code given S o T ¥ T IR BT TIT BT —
Code - Gl
(a) Only 1 (b) Only 2 (@) Haer 1 (b) Baat 2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) BT 17 2 (d) 5 dr 147 & 2

16. Which of the following statements is not(true 16. f=ifiRad ol § & a9 99T @ Hae & P
regarding ‘Gram Sabha’? ) |G T8l 87
(@) It has the powers and functions at the village (@) s R IR wfada 9™ 'R W) I TBR

level, like state Legislature has at the state 2 O IoT aRRIfUeT & WY WX 9Y '
level. = ‘
(b) Its powers are determined by the Central (b) g wfdqai &1 FuReT =g TR &
Government. ERT BT 8
(¢) It"is<a Village Assembly consisting of all () I8 TH UM WR B T 2, e vamg @
registered voters in the area of Panchayat. &3 & W USiipd Aaarar |fHferd el & |
(d) (a) and (c) both (d) (a) oI (c) QT
17. "All elections to the Panchayats are conducted 17- Yamadl @ GH% gATal ST FaTer T Ham & —
b ]
(a‘; State Legislature (D) State Election (@) NToT ST (b), el ST
Commission (c) WRd &1 FAafawr  (d) Y=l <1 ST
(€) Election Commission (d) Panchayati Raj STRT
of India Commission.
[A-1-23] 153101 Page 6 of 32
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18. With reference to the recommendations of the 18.. Gee 3/sT-u% arelie e Ry yides (1977)
Ashok Mehta Committee (1977) on Panchayati el TE REReE @ el 3§ fPr=fRag suE
Raj, which of the following statement/s is/are : - :
kel : = Bl R R VAT
(1) The three tier system of Panchayati Raj should (1) TaRh IS @ AT G FERRI © R W)
be replaced by the two tier system. fewag g e @12y |
(2) A block should be the first point for n
decentralization under popular supervision 2) R F A ; &g @l
below the state level. @0 &1 wer fdg & ST =Ry |
Select the correct answer using the code given W Ry 7T e | HE SR BT TG PIY —
below — e
Code - o
(@) Only 1 (b) Only 2 (@) Bad 1 (b) Haet 2
(c) Both1and 2 (d) Neither 1 nor 2 () | 1 2 (d) @ 197 & 2
19. The resignation letter by a Judge of Supreme 19 Hdled WG & TH R &1 AN—TH
Court is addressed to - TaIfd Bar & —
(@) The Chief Justice of (b) The senior most (a) IRe @ = (b) Tat= <arTerT &
India Judge of Supreme e @ afvea s &
Court . :
(¢) The President (d) The Prime Minister (¢) rscufdy T (@) wer Bt
20. Which of the following is not a part of the 20. ffafed # & @9 wRdE wRwE @
Article 20 of the Constitution of India? e 20, 1 R T8 27
(a) Prohibition against (P) Double Jeopardy (@) 9. o fivg aEfib) S v @ grT
Self Incrimination Clause e
(c) Prohibition Against (d) Ex-post Facto Law-
)l g " (©) AR B faeg e () R R
21. Which of the following Provision is a part of both. 21. fafeRad # & ®ar waer fa Feere qw
Directive Prmuples of State Policy and o A B SR BT TH AT &
Fundamental Duties?
(a) Guardians to provide opportunity” for (a) arf¥Tae Tl & Brm & EEx kaa”
educati.on to chilc!ren (b) T i
(b) Protection of environment
(c) Participation of workers in ‘management of (c) SERTT & UeH H BHBRI BT 9RT oAl
industries ' ;
d) ¥HME AFTRG HiEdr
(d) Uniform.Civil Code 2 j
22. \With reference to the joint sitting of Parliament, 22 WIS @ Wga d8@ @ wad ¥, Frafaiaa wemi
which statement/s is/are correct? H § BIAr/Y HYUF Hal 8 /&0
(1) Article 109 provides for the joint sitting of (1) IIE0E BB <URIN § HHg B H AT @t
both Houses in certain cases. ‘ﬂ'g’clﬁ YoF FT UG B 2
(2) The Speaker pres@es the joint sitting of the 2) ST e e Sow & aeTear WHR
two Houses of Parliament. 2
Select the correct answer using the code given 2l ,
below — W Ry U gHe # & wE SR g —
Code - M=
(@) Only 1 (b) Only 2 (@) daa 1 (b) g 2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) FT 192 2 (d) 7 ar 147 &1 2
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23. With reference to the invaders in ancient India, 23 UM @I & YR U SMHAU B HEy WA,
which one of the following is the correct frfRag ¥ ¥ B |1 e w8 PTATIHH 27
chronological order? -

(a8) Greeks — Sakas — Kushans (a) A — =B — FET
(b) Greeks — Kushans — Sakas (b) AT — FHOT — 27D
(c) Sakas — Greeks — Kushans (¢) ¥ — FAF — FII
(d) Sakas — Kushans — Greeks (d) oI5 — T — FA

24. ‘Milind Panho’ is in the form of a dialogue 24 ‘fferg w=r won Rt @on & dtg fag @
between Kinfg Milind and Buddhist Saint. The T Hare v | 98 fiveg o —
concerned saint was -

(@) Nagarjun (b) Nagbhatt (a) TS (b) FrTHE
(c) Nagasena (d) Kumaril Bhatt g (c) ST (d) aRe g

25. Charak Samhita is divided into how manycx 25. TRS wfed fha seaml iR Eef # fawiforg 82
chapters and sections? cf ‘

() 120 chaptersand  (b) 100 chaptersand (2) 120 34T 3R 8 We(b) 100 e 3R 5 G
8 sections 5 sections )

(¢) 80 chapters and (d) 60 chapters and (¢) 80 3regm AR 7 @ (9) 60 AT SR 8 W
7 sections 8 sections

26. Which officer was known as ‘Bhagadugha’ durmg,j 26. e BT YR H NG’ B SIRIHRT o?
Vedic administration? i . ‘5 2) i qun'ﬁf L e
() Messenger (b) Chief Officer of b

Forests f: « EIECaN
(¢) Chief Officer of the (d) Revenue Collector (c) o fawmT &1 e (d) JIoRT IR W R
Gambling
Department - SRR < sl

27- Match list-l with list-ll and choose the correct, 27- FHi—I S -1l & Ffera FRT 721 9= Ry

answer using the code given below the lists~ ~ & TV dHe | Hel I gy —
List -1 List -1l it -1 Gicie |
(Archaeological site)  (Present location) < (qRTeTfeas wre) (adam wr)
(A) Nevasa (1) Rajasthan (A) arar (1) oI
(B) Isampur (2) Tamil Nadu (B) S¥IYR (2) dfAerTg
(C) Didwana (3) Maharashtra (C) SrsarT (3) TERTS:
(D) Gudiyam cave (4) Karnataka a (D) Ifea™ T[T (4) BTCH
Code~ & RE-+
(@) A-(3), B-(4), C-(1), D-(2) b (a) A-(3), B-(4), C-(1), D-(2)
(b) A-(4),B-(3), C-(1), D-(2) & (b) A-(4), B-(3), C-(1), D-(2)
(©) A-(3), B-(4), C-(2), D-(1) () A-(3), B~(4), C-(2), D-(1)
(d) A-(3), B-(2), C-(4), D1) d) A-(3), B-(2), C-(4), D-(1) L

28. Eastern boundary of the Harappa culture is 28 f=ifoRad # & &1 ssur Wl & qdi
indicated by which of the following? &1 fERer Fxar 27
(a) Harappa (b) Alamgirpur (a) ggmr (b) STTeTHIRYR
(c) Rakhigarhi (d) Manda (c) ITErTEr (d) HUST

SR o 000 OO



29.

30.

31.

32.

33.

With reference to the Puranas, which one of the 29.

following statements is correct?

(1) Information about the Mauryan dynasty is
found in the Vishnu Puran. '

(2) Vayu Puran throws light on the Gupta’s
governance system.

(@) Only 1

(c) Both1and 2

(b) Only 2
(d) Neither 1 nor 2

cdavadolaly!

Which of the following pairs (School of Thought—  30-

Proponent) is correctly matched?
(a) Vaisheshika — (b) Mimansa — Kanada
Patanjali

(c) Nyaya—Gautama (d) Uttara Mimansa —

cii

Kapila €
With reference to the Captain Hawking’s, which, | 31-
of the following statements is correct? - 2
(1) He came to India in 1611 as an envoy of ¥
James—1.
(2) He was very well versed in Turkish language.
(@) Only 1 (b) Only 2
(c) Both1and 2 (d) Neither 1 nor 2 :
Who was ‘Khareetadar’? €, 32
(a) Despatcher of royal (b) Main custodian of ;|
decrees royal palace &
(c) Chief Officer of (d) An officer who was *

Pargana trained in keeping

accounts

Match list-1 with list-Il and select the correct 33

answer using the code given below the lists — 5

List -1 Vi
Book o
(A) Mirat-e-Sikandari -

(B) Burhan-e-Masir
(C) Riyaz-us-Salatin
(D) Riyaz-ul-lnsha
List —Hl
Context
(1) History of Bengal
(2) History of Bahmani’s Ahmad Nagar
(3) Collection of Mahmood Gawan'’s letters
(4) Victory of Gujarat
Code - '
(@) “A=(4), B-(2), C-(1), D-(3)
(b) A-(2), B-(4), C-(1), D-(3)
(c) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)

RO B wed H, Frfaiad werEt # F B

wEl 8°

(1) ey IO & A g @ TEERN) A €

(2) 9T GRIVT W G2 DI AT IR TR T
STerT # |

(a) Baet 1 (b) Haar 2

(c) QT 17T .2 (d) = v 197 8 2

frefafad & § @19 W I (G — TERS)
|eEl gAferd 87

(2) JRAfdpT — Teiwfer  (b) HwiET — HUI (F)
(c) =g — A (d) SR H\ET — B
P effg @ ed ¥, fr=foRaa wedl # 4
B9 T Tel 8? _
(1) T8 1611 H 5N — 1 & gd @ w9 H ¥R

3 |
(2) T8 Tl W1 DT TG ATHT T T |

(a) daar 1 (b) Baet 2
(c) €T 1 TRI 2 (d) a7 191 8 2
TRIAER’ B oAT? '
(a) BT BT Ao (D) IMEMEA BT U
CISIRICERR RETDH
() T BT v (d) iR S
AHER fere—fpae #
TdioT B e
-1 B GA-Il § gAfera HTg e fer
% - fRU U de 9 98 SR giHv —
& — |
ERHED
(A) FRTa—o— =
(B) REF—T—HIRR
(c) Rars—sa—wafas
(D) Rars—Se—gam
g —
o
(1) §°TTd BT SfE™
(2) IBHT B IBAGTR BT i
(3) HEHE Al ® TAI BT U
(4) TorRTd fgora
R_

(a) A-(4), B-(2), C-(1), D-(3)
(b) A-(2), B-(4), C-(1), D-(3)
(c) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)

[A-1-23] 153101
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35.

36.

37.

38.

39.

40.

Which of the following is not correctly matched?
(a) litutmish — Father of Razia

(b) Shah Turkan — Wife of Iltutmish

(¢) Hamida Banu Begum — Wife of Allaudin Khilji
(d) Gulbadan Begum — Daughter of Babur
Consider the reign of following Peshwas and
arrange them in chronological order —

(1) Balaji Viswanath

(1) Bajirao |

(I11) Narayan Rao

(IV) Madhav Rao |

Select the correct answer using the code given
below — £

Code -

@1, m,n, v () 1,1, 1, v

© u,1,1v, 1 @ 1,1, 1v,

Which among the following ruler of Kashmir
abolished Zaziya and Cow Slaughter?

(@) Shamsuddin Shah  (b) Sikandar Shah

() Zain-ul-Abidin (d) Haider Shah

Who among the following translated 300
volumes of Sanskrit books collected by Firoz
Tuglag during the campaign of Nagarkot?

(@) Azizuddin Khan (b) Talib Amuli
(¢) Mulla Abdul Bagi  (d) Mirza Muhammad
Ali

Tappa style of music was refined and developed
in which of the following Mughal Emperor’s
Court?

(@) Akbar (b) Jahangir

() Shahjahan (d) Muhammad Shah

Which of the following (Poetess = Compositions)
is not correctly matched?

(a) DayaBai—Vinay - (b) Sahajobai — Sahaj
Malika Prakash
. (¢) Gangabai— Ganesh (d) Son Kumari - Poem
Dev Leela of Swarn Beli

Which one of the following (Place of the revolt of
1857 - Start of rebellion) is not correctly
matched?

(@) Barrack= 29 March, (b) Meerut — 10 May,

1857 1857
(©) Lucknow -4 June, (d) Jhansi— 11 May,
1857 1857

34.

35.

36.

37.

38.

39.

40.

frfea & & B9 1 W gafe T8 ¥
(@) geqafier — =omr & fiar

(b) B8 BT — FoqareT @1 g

(c) et a1 AT — TSN Raeeh @ ueh
(d)

(1) FTRTET X9

(IV) 5Terg N1 |

e fRT MU e | wd SR g —

az?_.

@1, m, 1, v (B) 1, 1, m, v

© 1,1, 1v, 1 @ 1,1, 1v, m
=g # & #9iR @ 59 s 3 wifmn
emiﬁmaﬁwca%m?

(a) I wE b) ez wmE

(0) Ser e d)%a'wng
ﬁﬁ%ﬁ%ﬂﬁﬁﬁaﬁﬁﬁﬂmwa%mw
MM & IRE FIRT 300 W¥pa GEIDT P

Irgare fear?
(@) 3reigfEr @M b) aifera arge

(¢) oo 3reget a1l (d) et eI arelt
i o1 ewr def ffaian § & 5w g

HHIE $ SXER H uRepd vd e gg?

(a) 3rpax (b) wTElfiR

(c) wmesTEl (d) g8™1g wE
e # § a9 (@R - ge) Wb
gAfera &t &7

(a)amars‘ o b)ﬂ%ﬁhmé—w
(c)ﬂTn'ens‘ O 39 d)?ﬁ?r‘cﬁqﬁ wof

I & B

ﬁwﬁfrﬁ‘gﬁﬁ@aﬂ?wasw%ﬁaﬁgmw
— fagie &1 W) Wl gAfra g 22 |
(@) SRBYR — 2991d,  (b) W — 107E, 1857
1857

(€ oE=s — 45H,  (d) 3 — 1158, 1857
1857

[A-1-23] 153101
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41. |n 1918, the United Provinces Kisan Sabha was 41 1918 @ wgad Wid &M &1 &1 e+ =
formed by which of the following leaders? g fra war 7 foar ar?
(a) Baba Ramchandra (b) Indra Narayan (a) 9reT IHTS A (b) §g AR fgaady 7
Dwivedi (c) WA WEu= (d) . SR ol A
(¢) Swami Sahjanand  (d) Pt. Jawaharlal Nehru el 3
Saraswati
42 \Which among the following organisations was 42 FifeiRaa # & B=ar Hew faweh § a@wRE
responsible for throwing a bomb at Viceroy Lord e BT IR 99 B & forv SoxerY on?
Hardinge in Delhi? (@ R b ﬂ’fl'&%@ s
(@) All India Labour (b) United Patriotic ! Glﬁ'a?f N
Association Association
() Anushilan Samiti  (d) Yugantar (0} ¢ ili T W ' (@ W
43. By which of the following Acts, the system of = 43. fa=ifaRaa # & frw ffm gri, 120 Haw
‘Chamber of Princes’ with 120 members was Tl TN 3ifE O @ g &Y T8 off?
g;?i‘.t:dri Act of 1853 (b) Act of 1793 W gisnias D)dzasmr
arter Act o S SRS
(c) Act of 1909 (d) Act of 1919 RS e - 1aray
44. With reference to the E.V. Ramaswami Nayakar, 44 @1 ToRaml AraR & |ed ¥, FrefoRad e
which of the following statement/s is/are 4 ¥ PN/ TE B /B
correct? s ; = :
(1) He participated in the Non — Cooperation (H@ﬁ B # few fera
Movamment. (2) S 1925 # HUH BiS |
(2) He left the congress in 1925. R T W FEe & T PRd el S
Select the correct answer using the code given gﬁ? il
below — #e —
Code - o
(@) Only 1 (b) Only 2 (a) Faet 1 (b) Baet 2
(c) Both1and 2 (d) Neither 1 nor 2 ¢) ST 1T 2 d) 5 1T & 2
45. \What was the name of the female Regiment 45 “aTSil GWIY o= 99 ERI WG o ®Io &
constituted as a part of the Azad Hind Fauj' by R & w9 4 wfoqa afear Wwe &1 Fa1 9™
Netaji Subhash Chandra Bose? l of7? ’
(a) Rani Bhabani (b) Rani Jhansi (a) T e e (b) <Y @i ke
Regiment Regiment
(c) Bharat Mata (d) Veerangana (c) R Hrar Mowe  (d) IRiTEn e
Regiment Regiment
46. Who was the leader of rebellion in Bareilly, Uttar  46- 1857 ¥ aXell, STR Wl & shifa &7 =il BI oA1?
_Pradesh during 18577 (a) ToTed HEer b) W FEIGY @
(a) Hazarat Mahal (b) Khan Bahadur Khan O
~(©) Kunwar Singh (d) Nana Saheb ©) R Rig (d) =TT HIEd
47. Which of the following events was the last in 47- @relpd @1 gfe & fFrfafaa se-meil & 9
chronological order? P aifem of?
(a). Home Rule (b) Khilafat Movement (@) B9 wa aiereE  (b) Raced anicre
Movement i
(c) Jallianwala Bagh (d) Moplah Revolt 9 : o \9), 51aen NeiE
Massacre Sl
[A-1-23] 153101 Page 11 of 32
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48. Who among the following women freedom 48. fa=ifeiRag & & ®9 At Wdzar A=) WRd
fighter was not. associated with ‘Quit India BreT e & wafg w8 &?
Vayementy : (a) IR BT (b) ST T el
(a) Matangini Hazra  (b) Aruna Asaf Ali _
() Kanak Lata Barua  (d) Shanti Ghosh (C) B oIl T d) Frifey ey
49. Which one of the following (Tributary — River) is  49- fe=faRaa # & ®19 @1 (Fews ¢ — ) W@
not correctly matched? qi—qﬁqﬁ B 87
(a) Manjra - Godavari (b) Hemavathi — Kaveri (a) HeRT — et (b) 2arad) — BS
(c) miI::;abha— (d) Pranhita — Mahanadi © _ o e o
50. Which one of the following place is the 50. f=faRea & & 59 WM W sEd<r wd
confluence of the river Alakhnanda and the wrfielt 98 fAady 27
Bhagirathi? (@) ﬁrﬂ{[ ST (b) BT T
(@) Vishnu Prayag (b) Karn Prayag
(¢) Rudra Prayag (d) Dev Prayag ’ 18} eyHramT (@) éﬂ kel
51. Which of the following statements is correct 51. f=feiRad waEi & | aevEe A & RQyy f-]
about laterite soil? DI AT BAT eI 87
(1) This soil is developed in areas with high (1) T& fgr 9= avEE vd 9y 99t grel & §
temperature and heavy rainfall. fastaa eril g
(2) It is poor in iron oxide and aluminium. (2) 39. A2 § e sifeass vd vegpdifam ?ﬁi
Select the correct answer using the code given HA gt STl B
below — %Q‘QWW“\#F@WW—
Code - ®mT — :
(a) Only 1 (b) Only 2 (a) Baer 1 ~ (b) ®aaT 2
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) ST 17erm 2 (d) =7 &7 147 & 2
52. ‘Ozone layer’ absorbing ultra - violet radiation 52. WRT&TH faféxor &1 s F areh NSH
exists in which of the atmospheric layer? W e argHecy wR # Rerd 872
(a) Troposphere (b) Mesosphere (a) &y Heo (b) Her Hee
(o) Stratosphere (d) Thermosphere (c) wHA™ HeA (d) 919 Heo
53. Make the pairs of chief rivers of their place of 53- WRd & yq@ AfeAf T S+ ST el B S
origin — m‘ﬁ -
Rivers Place of origin - qfet I I
(A) Yamuna (1) Sihawa (A) IgT (1) Rygmar
(B) Krishna (2) Nasik (B) @@ (2) f®
(C) Godavari (3) Mahabaleshwar (C) T=Tady (3) HEEATaR
(D) Mahanadi (4) Yamunotri (D) #E™El ‘ (4) u'ﬂqﬁaﬁ
(@) A-(4), B-(3), C+(2), D-(1) (@) A-(4), B-(3), C-(2), D-(1)
(b) A-(1), B<(2), C-(3), D-(4) b) A-(1), B-(2), C-(3), D-(4)
c) A-(4),B-(2), C-(1), D-(3) c) A-(4), B-(2), C-(1), D-(3)
(d) A-(4), B-(2), C-(3), D-(1) (d) A-(4), B-(2), C-(3), D-(1)
[A-1-23] 153101 Page 12 of 32 *
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54. Given below are two statements, one is labelled 54 R €1 ®oq 2 R te a1 aifdmeE (A) 3R
as Assertion (A) and other is Reason (R) - W @I BRI (R) HET TAT & —
Assertion (A) — The Tamil Nadu coast remains dry :
during South-West monsoon affiper (A) — Sfo-aREH AR AR @
season. ' SR dfAeArg ¢ Ieh 5l ¢ |
"Reason (R) — The"TIamiIhNadu c:::ast is Isi;uateﬁ HRT (R) — Hﬁ?":"@ e 7S BT WK B IRl
parallel to the Bay of Bengal branc : : :
of South-West monsoon and it lies & wATiR e & ok < femr-ufem
in the rain shadow area of the HEYA B 3R G Q&W &=
- Arabian Sea branch of the South- Rerg 21
West monsoon during monsoon :
season. et Ry e e @ e S ghe -
Select the correct answer using the code given e —
bel:W = (a) (A) b & fg (R) T ©
Code -
(a) (A)is true but (R) is false (B) (A) e & ﬁﬁj (R) ¥ &
- (b) (A) is false but (R) is true (c) (A)3fX (R) BT w1<d €, fdp (R), (A) B wel
(¢) Both (A) and (R) is true but (R) is not correct ] el P B it
exganation gty _ (@) (A) 3R (R) < T & @R (R), (A) B @
(d) Both (A) and (R) are true and (R) is correct
explanation of (A) HTEAT | Bl &
55.  Which of the following statement is correct? 55. fep=iferfas Bl § | P9 AT e 87
(1) Ram Ganga river joins the Ganga at Kannauj. (1) ? T 7Y HreT B 9 T A H e
(2) River Betwa joins the Yamuna near Prayagraj. | : !
Select the correct answer using the code given (2) E\lglﬂT T AR & G il T 3 el
uelg 41 Ry Y FE & W& SR gAY -
Code - Hc —
(a) Only 1 (b) Only 2 (;) dael 1 (b) Paer 2
(c) Both 1and 2 (d) Neither 1 nor 2 (c) g 1 T2 2 0 s 1 s - A
56. Chandraprabha Wildlife Sanctuaryis sitiated in 56 F=IH¥T Iwoild FIRVY ST U B fhd WU
which district of Uttar Pradesh? # fRerg &7
(a) Sonbhadra (b) Chandauli (a) A=HS (b) T==Tell
(c) -Baharaich- (d) Lakhimpur Khiri (c) sxIsd (d) TEHYR ER
57. Which one of the following (Passes - States/U.T.)  57- faifoiRaa & & &= 1 U (=1 — T /B
is carrectly matched? wfia ueen) w8 gaferd 87
(a) Aghil =Arunachal = (b) Diphu — Ladakh (a) aiferet — aovTEe  (b) 9 — FRERE
Pradesh ; s
(c) Niti— Uttarakhand ~ (d) mZSZShHImachal © iy — : ) i bae
58. shivanasamudra and Kalpakkam are respectively 58 Rramress vd wergadd A e fog sy
important for- {4
(a) Hydel Power and - (b) Thermal Power and (a) STet wifdal ©d (b) a1 ST Td
Nuclear Energy Nuclear Energy BT FHoff DT Folt
(¢) Nuclear Energy and (d) Solar Power and (c) P St vg (d) ER wfda gd
Hydel Power Nuclear Energy STeT feT - ARSI Foit
[A-1-23] 153101 Page 13 of 32
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99. Consider the following statements with 59 TR W29 & Wy # f=faRad demi w AR
reference to Uttar Pradesh — PINTT —
(1) Forests constitute about 12.8% of the total (1) I B Bl e &3 BT T 12.8%
geographical area of the state. e
(2) The districts of Jaunpur, Ghazipur and Ballia 2) Trﬁﬂ'ﬂ? v ol afrar R ¥ o
have no forest land. S
Select the correct answer from the code given 14;&[ T E
below — : = Ry T e 4§ |8 I gAY —
Code - He —
(a) only 1 (b) Both 1 and 2 (a) dadl 1 (b) Y 1 TF 2
() Only 2 (d) Neither 1 nor 2 (c) PaeT 2 o @Far1aE2
60- Which of the following (Port-Country) is not 60. fy=ferRad # & @i (davmme—aw) wel gafera
correctly matched? 6 2
(a) Rotterdam - (b) Igarka — China
Netherland (a) FexeH — Aexeivs (b) MHT — A9
() Montevideo — (d) Jakarta — Indonesia (¢) Aedifea—Ford (d) Tt — SRR
Uruguay
61. Which of the following statement is true? 61. fr=falea # 9 o9 a1 $99 | 27
(@) Benguela current-is a cold current of the (a) TS YT ASHFR &Y Uh 3USI GRT 2 |
' I‘;ac;ﬁc °°ea’;]' P (b) aif <, gedt qorr == UH A ¥ B ) 7
the sun, the earth and the moon are in a
straight line then this situation is the situation fRerfet S 1 et &
of smailtide: | (c) HETATRIY SqUIT P Ud HPY V&Rl X
(€) Ocean salinity is maximum at the Tropic of 3T BT B |
Cancer and Capricorn. (d) HW R gRRT 3 12 52 30 fFe 912 WK
(d) Tide comes on the earth every day after :
' exactly 12 hours 30 minutes. el & |
62. The river situated along the border between the 62 ¥ga rog srReT T Mawadr & & 9T W
United States of America and Mexico'is = Rerg w1 & —
(@) The Mississippi (b) The Rio Grande (a) Ryt (b) R wrfe
(¢) The Amazon (d) The Colorado (c) 3w (d) PreARST )
63.  Consider the following deserts-and arrange them  63. fam=foRaa WA = AR FRT Jor 5=
in increasing order of their size (from smallest to D ITHR B gGd A H FIRerd FITY (F99
largest) — . B 99y ﬁﬁﬁ TP) —
. :::)(ireabt.Sar;dy d:sert (1) e Ao HRweret
rabian dese
(I1l) Sahara desert [T et
(IV) Gobi desert (1) HERT Fowre
Select the correct answer using the code given - (IV) T Fowerer
below: - e T 7T FE & 9E S g —
@ 1,1, 1v,m () 1, 1, 1, Iv- @ 1,1, 1v, 1 ®) 1,1, m, v
© 1, v 0, @, 1,1v, 1 © 1, v, 11, ), 1, 1v, 1
[A-1-23] 153101 Page 14 of 32
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64. To whom does the credit goes for the
development of coconut and sugarcane
agriculture in Philippines?

(@) French (b) Britishers
(¢) Hollanders (d) Spanish and

, Americans

65. Match list-| with list-Il and select the correct
answer using the code given below —

List — | List-1i
(Mountain) (Countries)
(A) Kilimanjaro (1) Morocco
(B) Toubkal (2) Algeria
(C) Stanley (3) Tanzania
(D) Hoggar (4) Uganda
Code -

(a) A-(4), B-(3), C-(2), D-(1)
(b) A-(3), B-(1), C-(4), D-(2)
(c) A-(3), B-(4), C-(1), D-(2)
(d) A-(4), B-(2), C-(3), D-(1)
66. Which one of the following (Lake — Country) is not
correctly matched?
(a) Baikal - Russia (b) Michigan — United
State of America
(d) Maracaibo —
Venezuela
67. With reference to the “EL-NINO”, which of the
following statement/s is/are correct?
(1) El = Nino involves appearance of warm
current of the coast of Peru ineastern pacific.
(2) This warm current increase the temperature
of water on the Peruvian.coast by 10°C there
by increasing-the amount-of Plankton in the

(¢) Onega - Canada

sea.

Select the correct answer using the code given
below =

Code -

(@ Only 1 (b) Only 2

(¢) Both 1 and 2 (d) Neither 1 nor 2

68. What caused wind to deflect towards left in
Southern Hemisphere?
(a) Temperature (b) Coriolis force

(¢) Magnetic Field (d) Pressure

64. fpeiiurs— # RIS wd T &1 P AH™ B
9 fHae! S 87

(a) IRl &1 (b) facaTRat &t
(c) EfcivsarRdi &1 (d) W Ug _
sPRaTarRl &
65. ei—I 3 A1l ¥ gAfera Piforg wo JRAl &
Hr f3u v Fe | "8 SR gAY —
L -l
(o) (¢%)
(A) fepefioTRI (1) HRaPT
(B) g8l (2) sresiiRar
(C) TTelt (3) TSt
(D) B8R (4) gmiST
'az\'f —

(a) A-(4), B-(3),/C-(2), D-(1)
(b) A-(3), B-(1), C-(4), D-(2)
(c) A-(3), B-(4), C-(1), D-(2)
(d) A-(a), B-(2), C-(3), D-(1)
66. frfefad ¥ ¥ P G@ha —2w) W@ gaRE
& 82
\a) IPTT — B (b) faefir — wge
Iy ARSI
(d) ARTHTZET —
| GRS AC
67. "=’ b wed #, f=foRad weEl ¥ 9
DI AT/W T8 B/ E?
(1) A1 ¥ gdf gwia &7 A % B de W
T R BT Ydhe BT WA 2|
(2) T& TH URT UH B T W U F AT DY

10°C d% 99T <ol 2, ol 9qs d wided

(c) 3T — HATST

P AET 98 ORI B
Hrr Ry ¢ He | 98 S gAY —
W_
(a) daer 1 (b) ®aat 2
(c) g 1 w4 2 (daFdar1-arsa 2
68. <Rl Mo § gar $1 9rfi IR fAEift EW &
AT HRUT &7
(a) qroEE (b) BRIfer g
(c) ggary &= (d) g9r@

[A-1-23] 153101
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69.

70.

71.

72.

73.

74.

75.

76.

Which one of the following is the largest coal
producing centre of Ukraine?

(a) Zaporizhzhia (b) Kharkiv

() Donetsk (d) Kyiv

‘Mount Newman’ is famous for which of the
folIov?cfag minerals?

(@) Irgore (b) Manganese

(c) Cq@)er (d) Bauxite

How many railways stations have been identified
for modernization under “Amrit Bharat Station
Scheme” in Uttar Pradesh as on February, 20237
(a) 57 (b) 82

(c) 123, (d) 149

Wher% was the “Sudarshan Prahar Army
Exerc@" carried out in December, 20227

(@) Gijdrat (b) Rajasthan

(¢) Uttar Pradesh (d) Madhya Pradesh

As per Social Progress Index, released in

. December, 2022, which of the following are on

top three positions in very high social progress in

Tier-%_)

(a) P@icherry, (b) Mizoram, Himachal
Laghadweep and Pradesh and Ladakh
Gaa

(c) Ke?gla, Nagaland
and Meghalaya

The “NISAR satellite” is jointly developed by

which of the following organizations?

(a) ISRO and NASA (b) ESA and ISRO

(c) ESARand NASA (d) ROSCOSMOS and
0 CNSA

Accor&%g to-the Union Budget 2023-24, how

many _skill-India international centres are to be

set'up across different states to skill youth for

international opportunities?

(@) 20 (b) 30

(c) 40 (d) 50

Who is the Author of the famous Novel “All the

Lives We Never Lived”, which received the

Sahitya Akademi Award, 2022?

(a) Anita Desai (b) Anuradha Roy

() Shobha De (d) Sudha Murthy

(d) None of the above

69.

70.

7il%

72.

73.

74.

75.

"-78.

1 # | G T I ST P SUED e
HIF AT 8°
(@) SRS (b) @fha

(c) SHewD (d) ®rg

Hqeve A fFrefoiad # 9 fow @fer & forg
uRig 7

(2) <iie arvh

(c) wiaT (d) dreaTge

BRad), 2023 T@ SR G H T WRA I
ISl & ded AFHIHT & forg fhas Yot

(b) H=irst

TIAT B UgAN BT TS 2°
(@) 57 (b) 82
(c) 123 (d) 149

fedaR, 2022 # “Y¥F UBR AW AT FEl

fdoar & or?

(a) ToRT (b) IToTeRITH

(c) TR w=T (d) Her weTr

feder, 202274 S G Wi gadie @

IgER femz—1 ¥, f=faiag & & @9 sy s=

armisre W # Y 9 e w87

(@) uife=r), ety sk (b) FASRE, A=
Mar 79 3R TR

) (c) B, ANTIeivs 3R (d) Sudad & & P

HETT &l
‘R e fr=faRaa § 9 &9 dreei grn
HgaT w9 ¥ e far = 87
(a) 3&ERY 3R T (b) TTHY. 3R FERT
(c) Svau R T (d) IpEEE iR AL

U141

HRIY q9IC 2023-24 B TR, ARSI JawR]
@ forq gamll &1 $iee yeH o+ @ fou A
) H fhas P IRT RIS B wWifda
fahg e
(a) 20 (b) 30
(c) 40 (d) 50
e IAPEH RFPR, 2022 U B 9l
UNE SU9N 3ife § oiged o HaY foe” &
oGP P B?
(a) 3T <ETS
(c) oivT ©

(b) 3rgRTEN 31T
(d) gerr A

[A-1-23] 153101
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TA7

78.

ALK

80.

81.

82.

With reference to mineral resources, which of

the following statement/s is/are correct?

1. Lithium’s inferred resources have been found
in Reasi district of Jammu & Kashmir.

2. India is import dependent for many minerals%
like Lithium, Nickel and Cobalt. ' '—5

Select the correct answer using the code given

below — 2

Code -

(@) Only 1 (b) Only 2

(c) Both 1and 2 (d) Neither 1 nor 2

In February, 2023 India’s biggest helicopter
manufacturing plant was inaugurated in which

one of the following places? o

Qo
(a) Chakeri, Uttar (b) Tumkuru, Karnataka 3?}
Pradesh . ©

[ |
(d) Nasik, Maharashtra ™

(c) Coimbatore, Tamil
Nadu

Who composed the Golden Globe Award winning

song “Naatu Naatu”?

(a) s.S. Rajamouli (b) M.M. Keeravani

(¢) Devi Sri Prasad (d) A.R. Rehman %
= £ : x . ol

The Indian Biological Data Centre is being set upLg' 80.
in which state? 2:5
=

(a) Haryana (b) Punjab

() Uttar Pradesh (d) Gujarat

With reference to India’s G-20 Logo, which of the
following statement/s is/are correct?

1. The logo has lotus with seven petals. %

2. The seven petals of the logo represent seven%
continents. &

Select the correct answer using the code given™

below =

Code -

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2
Which of the following Scorpene Class
Submarines was commissioned into Indian Navy
in January, 20237
(@) INS Vela

(c) INS Kalvari

(b) INS Vagir
(d) INS Karanj

77. @fier 99er @ e d, fefaRaa wuEi | |

B9 A1/90 98l 8 /87

1. SF-aER @& Rarll e § ofPm @
AT UeT MUeR e €|

2. R 9P WiEeli g oliferE, e den
Paee ® oIy g w® 7R &

I A T Be ¥ W I gAY —

@_

(a) ®ad 1

(c) gHI 1 3R 2

(b) waet 2
(d) = &1 147 81 2

. RS 2023 H HRA B GI9 9 Sollprex i

HaF BT Sgured frEfaRed § 9 fha W )

3T 217
(a) g9, STR yowr  (b) THER, Bicd
(c) Prigcy, dAffcrrg () ATRYD, HERTS
. Tiesd T R o fia Ag A @
ABHR & — i
(a) THRE IS (b) THUABREA!
(c) <41 5 gH= (d) TR, Y&

qRAR Sifde <er b fod g # wenfua faan
ST <& &7
(a) sfkamom
(c) 9TR Wy

(b) GSTTg
(d) ToRT

. qRT B G-20 UdE e B wwd ¥, FrafiRad

ol § W B |1 /Y wE B /80

1. e e # ara ugfeat aren FEd |

2. ydie fre & W\ ugRdl Wi wegal 3
wfaff &=l 2|

I fRA T g BT YA BR FE SR DI FIT

BT —

e — -
(a) Pad 1 (b) et 2
(c) gFI1 Tg 2 (daTar1sm a2

. frfafad 4 9 fba wid= Sl @ tagEl ®

SR, 2023 H R AT § wnfAe fhan war?

(@) METATE. de (b)) IMETALH. AR
(C) SME.TA.UE. horal  (d) AMS.TA.GH. Bl
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83. In December, 2022 New Zealand passed the 83. fawimR, 2022 # =gofids ¥ amreh Ot & forg
world’s first Law to ban smoking for next Y R Hfcee T aren fea &1 ggen DA
generation. New Zealand’s goal is to be “smoke- uIRd fhaT| Rl BT A ad
free” by........... gHU o’ BT B |
(a) 2024 (b) 2025 (a) 2024 (b) 2025
(c) 2029 (d) 2030 (c) 2029 (d) 2030

84. Plane of which Airline crashed in Nepal in 84 &), 2023 ¥ 5w TaReEs &7 f8F JuTel
January, 2023? GHCATIR §aTT?

(@) Nepal Airline (b) Buddha Airline () STl QARATS (b) €T TR
() Tara Airline (d) Yeti Airline (€) TRT QAR (d) afer TReTsT

85 Who among the following has authored the book. 85 for=iferRa # & fre "R qrae fordt 22
Spate? | (@ fifr &8 b) firer faferar
(@) Prince Harry (b) Prince Williams _ _

(€) Prince Phillip (d) King Charles o) e ffer (d) fr =rew

86. With reference to the Pope Benedict XVI, who 86. Tig =ifede wrered. e gra & 4 e AT,
died recently, which of the following statement/s ‘ P gy ¥ f=fofag oo § ¥ 99 w'/ﬁ
is/are correct? a2 /&

1. He was a nat.ive of Germany‘. - 1. 98 4 @ T fraret o |

2. He was the first Pope to res.lgn in 600 yearfs. 2. 7% 600TsT ¥ edET & AT RS Uy o
Select the correct answer using the code given

balowe e R T e ¥ wE SR g —

Code - R

(@) Only 1 (b) Only 2 (@) daer 1 (b) aeT 2

(c) Both 1and 2 (d) Neither 1 nor 2 (¢) BT 1 e 2 (d) 7 dr 197 & 2

87. With reference to the SCO Film Festival-2023, 87- wH¥flal. fhew #El@E—2023 @ w=f
which of the following statement/s is/are fefoaa womt & & 319 wr/d wd & /&
correct? 1. YOS WEANT WS P 9Rd P ngerdr B
1. The SCO Film Festival is being ‘held during eRM HHe). fher weeaa s e

India’s -Presidenc.y : of .the Shanghai T RET &

Coop.eratlon .Organllsatlon. . 2. T, fhoq wa) ¥ wadian 29 @
2. SCO Film Festival will showcase the films from : !

the SCO countries. oot foems st |
Select the correct answer using the code given T fo RE P WA TS T B?F\' Gl
below — T PIT —
Code - e —
(@) Only 1 (b) Only 2 (a) Paa 1 (b) Paer 2
(c) Both1and2 (d) Neither 1 nor 2 (c) ST 1 T 2 @= a1 &2

88. Who amang the following has been named asthe  88. fiferRRa ¥ & b9 Sa9), 2023 Iailelve &
Prime Minister of New Zealasd in January, 2023? UUTFEA & wU § gAT T 87
(@) Jacinda Ardern (b) Chris Hipkins (a) SfR¥eT 3+ (b) e fRufew
(¢) Cindy Kiro (d) carmel Sepuloni (c) REST by (d) SR AgerT
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89. Which of the following cities of Uttar Pradesh is 89 SR We¥r & mfoiRaa ol # & @9 <1 ¥=y,
not included as the venue for 11 meetings of 200 ARG T LT @ SRF G-20d 20093 § 94
;:;s:g;lsg:f G-20 during India’s Presidency of the 11 353 3 e =i @ w9 3§ e T8 7
(a) Agra (b) varanasi () ST (b) Tl

- (©) Kanpur (d) Greater Noida (€) BFYR (d) Te= TS

90. Given below are two statements, one is labelled 90- 1= 21 ®oH & 9H & Ut @1 AfFHUT (A)
as Assertion (A) and other as Reason (R): 154 w{r BT BRI (R) BET TAT & |
Assertion (A) -12 Cheetahs arrived from South AAHT (A) - BRES, 2023 ¥ 12 A By RO

Africa to India in February, 2023. SfFeT | FRE ST T L
Reason (R) - Re'storlng Cheetah- pt.)pulation.is PR (R) - e @ ETe B S
considered to be a priority for India. G 3
Sélect the correct answer using the code given 8l
ThRal Hr G T G | A8 IR B TIT DY —
Code - QT =
(a) Both (A) and (R) are true and (R) is correct (a) (A) iR (R)EHT ¥ & SR (R), (A) ®1 W&l
explanation of (A) TE] Yl 8 )
(b) Both (A) and (R) are true but (R) is not correct (b) (A)3fR (R) & & T (R), (A) T el ATEAT
explanation of (A) REACEGIRS
(¢) (A)is true but (R) is false (¢)-(A)wg 2 fg (R) Tema &
(d) (A) is false but (R) is true (d) (A)TTer & fbg (R) 9T &

91. With reference to the Deakin University, whichof ~ 91. Sifé fazafdencm & W= # FfoRaa Hemi
the following statement/s is/are correct? ¥ P AT/ 98l 8/87
1. It will be the first Foreign University to enter 1. 98 U ¥G0s IRER & TeH ¥ AR I GEl
g llr!dise'ls an i:dg;?enlae:t car::)us. B AT gEeT s a2

. It is being set up in Maharashtra. ;
Select the ?:orrecf answer using the code given 2. 3 WERTS, § R AT S < gl
Belon Ao A T B B YA HR GE R g —
Code - @”C —
(@) Only 1 (b) Only 2 (a) daa. 1 (b) wae 2
(¢) Both 1 and 2 (d) Neither 1 nor 2 (c) S 1 wd 2 (d) 7 a1 147 & 2

92. Which Indian “origin businessman has been 92. WRWH Hel & e @awR B WSAAD b T
elected as. Mayor  of 'London Borough of ‘ Eﬂ‘r e Tﬂﬁ IR I T 27
Southwark for the second time?

(a) Sam Dalton (b) Sunil Chopra (8) ¥ STee (b) et et
(¢) Gautam Adani (d) Neeraj Patil ; (c) e sreT (@) et wfee _

93. On 25t December, 2022, which of the following 93 25 faweR, 2022 @1, fF=fafea & & & <@
countries extended mandatory Military Services ERT 1 5Fas),.2005 S qTE S T W 3 far
for one year to those males who were born after
01 January, 2005? T a8 B W ¥ar sifart AR < TR
(@) Myanmar (b) Taiwan (a) =IHR ; (b) drSa=
(c) SriLanka (d) Afghanistan (c) SNcipT (d) SrHITTRT
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94." Among the following, which country has declared 94 2 ®va¥l, 2023 &I, f=ifaRag & ¥ frg 2o 3
to remove the British Monarchy from its Central Efﬁ'ﬁ'ﬂ 9% @ g FG A 9 ey MENIE]
Bank Currency Notes on 2" February, 2023? BT ECSH DI ETTOT BI?

(a) canada (b) Australia (a) wATST (b) afresferan
(¢) Sri Lanka (d) Nepal (c) sfrciadt (d) =91t

95. On which of the following, proved charges the 95 fam=feifad & &, fa fig 39 @ omIR W
Finance Minister Nadhim Zahawi was sacked BRas), 2023 31 fafewr wrE ®® g N
from the Government in February, 2023 by the AT WBR ¥ o= W e 31 ger
British P.M. Rishi Sunak? 7?7 .

(a) Disclosure of Secrecy(b) Sex Scandal . (a) HAFTSS @Y b) dFT s
of the Cabinet ; ;ﬂuﬁw HT T
{c) Tax Scandal (d) None of the above (©) mﬂg‘nﬁ (d) Suger & ¥ P TS

96.  Which of the following elements is not a Noble 9. fam=forRaa & & @19 91 9@ F9a 9 =8 82
(33;5° s (a) aRfs (b) e
a) Argon ton
(c) Raion (d) A?t{::nium (©) RTeT (d) Sfeefram

97. Which of the following hormones is secreted by  97- f=ifeiRaa # @ @lvar gmie s & ohedw
the Beta cell of Islet of Langerhans of Pancreas? @ ITEeic. BT Vel (il gRT wfad
(a) Glucagan (b) Insulin (E;I)HT & (b) 2
(¢) Adrenalin (d) Aldosterone (©) Wﬁ (@) mﬁg

98. Which type of -vaccine protect against 98/ fF& UBR @1 ST feRRAT I TowEr &7
DI BE N (a) cfpeagS (b) ega srefrs
(a) Toxoid (b) Live-attenuated
(€) mRNA (d) Viral Vector ) (©) THIARTAT, (d) vt daey

- 99 Which of the following is mRNA vaccine used" 99. f=ifoiRad § ¥ ®¥ | mRNA Ji9 2 e
against Covid-19 infection? TUGNT PIfde-19 TWha0T B 9o fhar ST &7
(a) Sinovac (b) Moderna (a) Rya® (b) Htew=T
() Sputnik (d) Novavax (c) xgefie (d) ST

100 Which of the following factor (is. the most 100. fy=faRaa & & & W oRe Sa—fafduar @
important factor for the lost of biadiversity? &N & forg walfte wexaql erRe 87
(@) Genetic assimilation (b) Control of predators (a) sfaifis (b) TRwfEry uv Ao
(c) Destruction of (d), Pest control SHTCHHATRRIT

nattral habitat () Tl are BT (d) e fFrE
, fammer

101. The “Xylem “in plants is responsible for 101. i ¥ Wger uRaeT @ forw RER & & —
transporting -

(@) Water (b) Amino Acid 2 Gf,a ) instive
(c) Oxygen (d) Food (€) SHferIeT (d) o

102. Non-conventional energy sources are those 102. IR—uRuR® THuif |ia 4 g & & 5 —
energy.sources, that are - - 5 ; p
(a) Ngovn-renewable (b) Renewable i el g
(¢) Produced from (d) Produced from heat () faegasifra € (d) ST €

electricity
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103.

104.

105.

106.

107.

108.

109.

110.

Biological Oxygen Demand (BOD) is a standard
criteria for - ;

(a) Pollution assay in aquatic ecosystems
(b) Assaying O level in high.altitude regions
(c) Measuring Oz level in blood :

(d) Computing O; level in forest ecosystems

The aquatic plant commonly used as bio fertilizer
in the water-logged rice field is -

(b) Azolla

(d) Trapa

(@) Lemna
(c) Wolfia

Which of the following is known as laughing gas?

(a) Ammonia (b) Nitrous Oxide

(c) Carbon Monoxide (d) Chlorofluro Carbon

Seaweeds are important source of -
(a) lodine (b) Bromine
(¢) Chlorine (d) Argon

Which of the following is an insectivorous plant?
(a) Nyctanthes (b) Nelumbo
(c) Nicotiana (d) Nepenthes

Human heart is made up of how many chambers?
(a) Only four (b) Only one
(¢) Only three (d) Only two

What was India’s rank in the world greenhouse
gases emission in 20227

(a) gth (b) 10t

(€) 11th (d) 12th

A geographical unit that collects, stores and
release water is called -

103.

104.

105.

106.

107.

108.

109.

110.

grardifoTee sifeiom feaie (§ansh) fFas

forT ue wMe AFeS 87

(a) Stefra wiRReiftie @ # ugawr @ witg & fow

(b) Sza GaTe drel & H IS Bl ora B
fom

(c) Yo # SifRioT @ WR @ Sig @ fag

(d) a7 wiRRefo® o= # SifRivy & «R @
UE & forw

Selrg g 5 ur: wid wifag oe B oWd H

WI-SdRe & ®©Y F YA A AT SIar §, 98

3
(a) orH=T (b) TS
(c) arfewman (d) grar

frrafafad § & 5 &0 51 =4 ael 9 &
B H ST ST 8?

(a) amIfFT B (b) AT STFAES Bl
(c) géﬂ!ﬁﬂ‘r ATES (d) FARIGAR BT DI

T Sara fiad Aeayel Wid 57

(a) IS B (b) s &b

(c) FeNrT. B (d) 3 &
fr=fcilRaa § 9 P we el der 27

(a) fyaefera (b) e

(c) e (d) Atfra

Hd gay fbas w4 (Fedi) BT 991 BT 87

(a) Baer AR (b) Paet TH

(c) Haa T (d) das &

2022 % fagg % M= e=T 46 P SIS § ¥R
fhe %= o or?

(a) gqf (b) 10df
(¢) 114 (d) 124 ‘
U W1 gHiE S Ul BT dhear dRdl B,
HERUT BT & UF U wred) 8, 99 dEd & —

(a) Watershed (b) Waste land (a) STerfareTs (b) =ef yfA
(c) Wetland (d) Water reserve (c) add A (d) gt &1 BN
111 When did the Water (Prevention and Control of 111 5ot R ud wgwwr frizen) sidifas &1
Pollution) Act was enacted in which of the RrfRaa & & fra af g=ar Tar
following year? T
(a) 1974 (b) 1975 (@) 1974 # (b) 1975 %
(c) 1976 ~ (d) 1977 (c) 1976 ° (d) 1977 %
112. Example of Lotic ecosystem is - 12, Pifes uiRRfST o3 @1 SaE=T & —
(@) Swamps (b) Ponds (@) ﬁa(—"aa (b) qreTrd o e
; & d) erdTs
(c) Rivers (d) Marshy area © o (
Y ] , R )
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113.

114.

115.

116.

17

118.

119.

First National Centre for Marine Biodiversity
(NCMB) of India is situated at -

(@) Mumbai
(c) Bhavnagar

(b) Jamnagar

(d) Puducherry

Which among the following is a constituent of
natural silk?

(@) Phosphorus (b) Nitrogen
(¢) Magnesium (d) Potassium
Desert dwelling animals are called -
(@) Arboreal animals  (b) Terrestrial animals
(c) Fossorial animals  (d) Xericoles animals
Match list-l with list-ll and select the correct

answer using code given below —

List - | List - Il
(Diseases) (Factors)
(A) Peptic ulcers (1) Virus
(B) Dengue (2) Protozoa
(C) Elephant Foot (3) Worm
(D) Malaria (4) Bacteria
Code -

(@) A-(4), B-(2), C-(3), D-(1)
(b) A-(4), B-(1), C-(3), D-(2)
(c) A-(3), B-(4), C-(2), D-(1)
(d) A-(2), B-(3), C-(4), D-(1)

Trophic levels are formed by -

(a) Organisms linked in(b) Plants only
food chain

() Animals only (d)_Carniverous animals
only

In National Parks, Genetic diversity is maintained

by - '

(@) In-situ conservation (b) Ex-situ conservation

(d) None of the above

Hangul-deer is found in which part of India?

(¢) Gene pool

(b) InFAssam
(d)'InJammu and
Kashmir

(@) InKerala
(€) In Rajasthan

113.

114.

115.

116.

1174

118.

119.

AR BT Y2 9Me Hex B T aRSIaicl
(Tsfigad) Rea & —

(@) gag # (b) TR H

(c) TR A (d) ggert #
ffeiad # | Wfad TF &1 & ged DA
87

(a) BIEpRE (b) ATEEIST

(c) #Hfrm (d) drefRrm

AT # AT FRA qTel AR FEATT & —
(a) gerardl SiTaR (b) wRreflT SR

() fet g aret SIER(d) ARfeAT SR
- B FgE-Il | gafera i e Hi9 A
T e B YART PP el SR B g
BHITY —

gr -1 gl -1l
(cafe) (@)
(A) Uftees o (1) fareor
(B) S (2) SeTSTra
(GRACIC] (3) M
(D) FoiRaT (4) fammog
ag\?' e

(a) A-(4), B-(2), C-(3), D-(1)

(b) A-(4), B-(1), C-(3), D-(2)

(c) A-(3), B-(4), C-(2), D-(1)

(d) A-(2), B-(3), C-(4), D-(1)

99 WR a9d & —

(@) @rer si@em | Siai(b) daer Ut |
T g BM W

(c) daet gl & (d) el HIHETERT ST
J

IS Sl 7 IMaite fafduar &1 ve—<a@me

far S & — :

() ST WReToT g1 (b) Tai—ie, wRervT g1

(c) S gt g1 (d) SUaw # | BIE TRl
Rd & 69 91T # B[S F &7 70T uran S
87

(@) &eT | (b) 3rgH H

(c) JroTeRI # (d) 517 3R FHeiR
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120. Which of the following is not a biodegradable

121.

122.

polluter?

(@) Domestic waste (b) Urine

(d) Pesticide

Which one of the following is not true about the
total outlay in the Union Budget 2023-24?

() Interest payment

(¢) Faecal matter

(b) State share of taxes
(20%) and duties (18%)
(c) Defence (8%) (d) Subsidies (9%)
Match list-l with list-ll and select the correct
answer using code given below the lists —
List - |
(Theories of Population)
(A) Optimum Population Theory
(B) Social Mal-adjustment Theory
(C) Demographic Transition Theory
(D) Population-Food Supply Relationship Theory
List - Il
(Propounders of Theories)

(1) Thompson

123.

124.

(2) Malthus

(3) Edwin Kennan

(4) Henry George

Code -

(a) A-(3), B-(4), C-(1), D-(2)

(b) A-(2), B-(3), C-(4), D«(1)

(©) A-(1), B-(2), C-(3), D-(4)

(d) A-(4), B-(3), C-(1), D-(2)

What do we call balancing the need to use

resources and also conserve them for the future?

(b) Sustainable
development

(d) Reducing
consumption

(a) Resource .
conservation
(¢) Future resources

Which of the following is not a sustainable

development goal targeted to be achieved by

20307

(@) Gender Equality

(¢) Good health and
well being

(b) Zero Hunger
(d) Space Research

120. fferfae & @ ®19 &1 Ified ygud e

- (a) =] e

121.

122.

87
(b) =
(c) 7T uared (d) Hearee
BT goIe 2023-24 F Hor TRy F Fr=fRad
L R s s B 7 B i 1 -4
() =TSt T (20%) (b) PRI TT Yedi H I
P AEMERT (18%)
(c) <& Ta (8%) (d) afsast (9%)
G- B -l gafera P ik R Ry
Y HE BT YART $HRd gY &l IR gAY —
g4t - |
(S & Rigia)
(A) ST ST g
(B) G IS Rigra
(C) STraeEn. HHYT Rigia
(D) STHH&I—Te= Mg g
Al =l
(Rrgiat @ ufdures)

/(1) I

123.

124.

(2) TR

(3) vefaq B+
(4) &1 Sifol
a—'jt\a' —_—

(a) A-(3), B-(4), C-(1), D-(2)

(b) A-(2), B-(3), C-(4), D-(1)

() A-(1), B-(2), C-(3), D-(4)

(d) A-(4), B-(3), C-(1), D-(2)

TN © SYANT q2UT 9 B U 39 Eweor
DI ATIRIHAT DI AT B BT &H FIT el
27

(a) HHIA HReo]
(c) wfesr & wHam=

Fr=faRaa & | @19 91 gad Qe &1 e T8
2, RO 2030 9% UId & T FeY I@T AT 27

(b) Tea fawr
(d) gaq & HHA HEAT

(a) <iffre w=TTam (b) 3T
(c) 3renT wWReF;Td  (d) IFRer IR
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125.

126.

127.

Given below are two statements, one is labelled

as Assertion (A) and other as Reason (R) -

Assertion (A) - Population control is necessary to
maintain the environment of the

country.
Reason (R) - Due to the rapid increase in
population, the environmental

balance is maintained.
Select the correct answer using the code given
below -
Code - ;
(a) Both (A) and (R) are true and (R) is correct
explanation of (A)
(b) Both (A) and (R) are true but (R) is not correct
explanation of (A) !
(c) (A)is true but (R) is false
(d) (A) is false but (R) is true
What is the theme of the International Day for
fhe Eradication of Poverty for 2022523?
(a) “Acting together to empower children, their
families and communities to end poverty.”
(b) “Dignity for all in practice.”
(¢) “Accelerating global actions for a werld
~ without poverty.”
(d) “Coming together to end _poverty and

discrimination.”

Economic
following

Role of Human Resources . in
which . of . the
statement/s is/are correct?

1. ~Effects. of  economic development

population growth.

development,
on

2. Effects of population growth in economic
development.

Select the correct answer using the code given

below —

Code -

(a) Only 1

(c) Both1and 2

(b) @nly 2
(d) Neither1 nor2

125.

~ -
41 NS 200
I WU

NERONO
VOJIOUY

2 3 FuA R 9 e 31 AafddeE (A)

IR TN BT R (R) HeT TIT & —
SR (A)- 3T D TR FT IR @ D
forg ST AT amaeas 2|
HROT (R) - TG § O gfg & SR qIaR
el g1 e 2 |
T iR ™ w5 | 9B SR gAY —

(@) (A) 3R (R) eFT 9@ & 3R (R), (A) @ |&I
R BT &
b) (A) @R (R) ST | & ﬁﬁ; (R), (A) @ GBI
AT Tel-HET
c) (A) T feg (R) Tola

(d (A) T8 fg (R) 9T

126. 202223 % forg T ST B forg sRisi
o, TRt 1 fawa @@y 27

@) T wEE By @ o 9=, S aRaRd
@0 aﬁ?ﬂgﬂ@aﬁwaﬁﬁémww
N BM

o
(w8
L)

&

(#p) (

(b) a:la%ﬂﬁwﬁa%ﬁ—mrrﬁml“

() " & o1 g & dRaw Hrt | o
AT

d) "R 3R HgwT FET HH B I U A
T |

anfYjes faeTd 3 WI9a HErE $T AFEHE & T
#, Fafofag el & & @9 w1/9 W@ 8 /&7
1. 3R fapre 1 SrEEAT 9 W T |
2. ST gfg 1 ol fasr W yeE |
o R T e P IR W FE SR BT TIA

Py — ’

'a?.\'a_

(a) Baer 1 (b) aet 2

(c) 3T 1 3R 2 (dFar1+ma2
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128. When was the Census work done for first time in
India?
(@) Inthe year 1850  (b) In the year 1861
(€) Intheyear 1871  (d) In the year 1881

129. Match list-1 with list-Il and select the correct

answer using the code given below the lists —
List - |
(Sustainable Development Goal)

(A) SDG - 10

(B) SDG - 13 (2]

(C) SDG - 14 o

(D) SDG - 15 : ¢0
List - 11 -
(Related With)

(1) Climate Action

(2) Life on Land

(3) Reduced inequalities

(4) Life below water =

Code - ey
(a) A-(1), B-(2), C-(3), D-(4) &

(b) A-(2), B-(3), C-(1), D-(4)
(c) A-(3), B-(2), C-(4), D-(1)
d) A-(3), B-(1), C-(4), D-(2)

130. Who authored the book “The Challenge of World
Poverty”?
(@) Adam Smith
(¢) Amartya Sen

131. Which one of the following is the main objective
of Janani Suraksha Yojana?

200

(b) Gunnar Myrdal }4;
(s

10

(d) Jean Dreze

(@) Reduction in maternal mortality rate only

(b) Reduction in'neo-natal mortality rate onl\{_}_’i
(¢) Reduction-in infant mortality rate only o
(d) Reduction " in maternal and neo-r‘@al

mortality rate =

132. The “Agenda — 21” of Rio Summit, 1992 is related

128. 4RT H SO BT SR HdYLH B9 bt T
oqr?
(a) g9 1850 % (b) af 1861
c) a9 1871 # (d) a9 1881 %
129. 3l &1 &Il / gAfera PR aen gRrt @
A R T FE ¥ FE SR B AT PR —
-l
[GESREEZRSE))
(A) THSISH. - 10
(B) TH.SISH. - 13
(C) TSI, -
(D) TH.SISLL - 15
-l
(EsfRra)
(1) STefaryg fsbar
(2) 59 WR Sfie
(3) STHTIRT B B
(4) Tt @ T BT Sfta
% =
(@) A-(1), B-(2), C-(3), D-(4)
(b) A-(2), B-(3), C-(1), D-(4)
) A-(3), B-(2), C-(4), D-(1)
d) A-(3), B-(1), C-(4), D-(2)
130, "5 it sifw aes dradl” Wﬁmﬁﬁi@?

(@) TsH s (b) TR s
(c) sy & (d) w7 %

131. ffolad & & 919 |1 S GR&m AT B
T JE¥F 87
() Pael WY g X H B!

(b) BaeT TISTd g &% § A
(c) Badt g 77 = # HH
(d) 7Ig Jeg &R AT TIoa g &% H FHH

132. Ry Rrer w9, 1992 &1 “"Toier—21" Hefd

to - 2 -
(a) Sustainable (b) Polluter — Pays a) Jad faea | (b) gq¥®H — YT
development principle frgia o
() Environmental (d) Preservation of (c) vataRer R | (d) NS wRa P
education ozone layer W R |
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133.

Consider the following statements about

sustainable development —

(1) Based on the global indicator framework and
data produced by National Statistical
Systems and information collected at
regional level, the United Nations Secretary
General presents an Annual Sustainable
Development Goal Report.

(2) Global Sustainable Development Report is
produced inform the quadrennial
sustainable  development goal
deliberations at the U.N. General Assembly
once every quarter.

Select the correct answer using the code given

below —

to
review

. Code -

134.

135.

(@) Only 1 (b) Only 2

(c) Both 1and 2 (d) Neither 1 nor 2

With reference to the Human Development

Report, 2021-22, which of the following

statement is/are correct?

(1) India’s rank on the Human Development
Index has upgraded from 130 in 2020 to 132
in 2022.

(2) India’s rank on the Human Development
Index has stipped from 130 in 2020 t0.132 in
2022.

Select the correct answer using the code given

below —

Code -

(@) Only 1 (b).Only 2

(c) Both 1-and 2 (d) Neither 1 nor 2

Natural resources should be used by the present

generation in such a way that if there is minimum

degradation of natural resources, then what kind
of development would it be called?

(@) Economic
Development

(c) Sustainable :
Development

(b) Social Development

(d) Organic
!'_D_evelopment

133.

134.

135.

wureig e & wef # Fefaiad dem w®

faar S — :

(1) INad oo WET a1 TS AiREDHg
IR §RT UNga U9 &g SR W
Wepford a1 & MR WX GIH W
Hqerdafed Uh aifie wurena faerd e
Raré o¥ga axd @ |

(2) df¥a® wuReig faer Rurd & fme) 9y -
I HETEHT W Tgaiite GuReny  faem
T B ANl B GREAAST &G URgd B
St # | ' :

H RU T @e & YA RS Hel STR B

AT BT —

e —

(a) waet i (b) Paer 2

(€) eI 1wd 2 (d) = ar 197 & 2

q famra RUlE, 2021-22 % wed #, Fr=faRaa
U B $UF 9 & /87

(1) A9 fawT qawie ¥ TR I A 2020 §
130§ I=Td BR 2022 13281 T B

(2) Arra faeTd Gadie 9 wRa I A0 2020 H
1309 2022 % 132 7@ iR 73 7|

9 ST g $T SUAN B Hel SR DI A

ﬁc‘\a_

(@) Tael 1 (b) Pae 2

(c) SMT 179 2 (d) sFar 191 8 2
UIHiad AT B T G161 gRT $9 GhR A

SUANT fhar Sy &5 qipfad WmEED &1 <A
&7 B, 1 I8 fow geR &1 R dearm?
(a) s fawra (b) wrIfoTe faera
() wea fasra (d) Sifde faemra
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136. With reference to ‘PM Gati Shakti Scheme’,

137.

138.

139.

which of the following statement/s is/are

correct? : :

(1) The PM Gati Shakti Scheme-National Plan was

launched in 2022.

(2)' The PM Gati Shakti Scheme pertains to seven
engines (Roads, Railways, Airports, Ports,
Mass Transport, Waterways, Logistics
Infrastructure). NIP will be aligned with PM
Gati Shakti Framework.

Select the correct answer from the code given

below —

Code -

(@) Only 1

(c) Both 1 and 2

Which of the following is not an economic

(b) Only 2
(d) Neither 1 nor 2

activity?

(@) Farming (b) Service

(¢) Voluntary Social (d) Transportation
Service

With reference to the scheme wise allocation in

the 2023-24 Union Budget, which of the

following statement/s is/are correct?

(1)

Compared to the previous year, highest

percentage of decline has been recorded in

the allocation for MGNREGA.

(2) Compared to the previous year, highest
percentage of growth has been recorded in
the allocation for Jal Jeevan Mission.

Select the correct answer using the code given

below —

Code -

(@ Only 1 : (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

By which year the target of population stability

has beenfixed in India?

(@) Year 2045

(c) Year 2075

(b) Year 2070
(d) Year 2080

136.

137.

oA, Tirefdd aET @ Wed ¥, frefaRad

H BT/ BT TE B /8D

(1) droH. Trfcrerfda—rsiia From o1 R 2022
¥ foar o) '

(2) WS SEwvEAT qIgY @ed (qTensdy) #
JgEARI) ® wafta gRareEel dow, Ty
wfdd gid & A SIS S9 |

fFrefeRad oe @ w9 SR T —

oe ~

(@) Badl 1 (b) Baat 2

(¢) g1 132 (d) 7 a1 1471 & 2

frrforRaa # & B9 o s fbar =2 82

(@) fgr (i) (b) ST

/() wRes e a1 (d) gRae

138.

139.

HHI gl 2023-24 H ASTR & FFAR 3Mde

& g H, 7 wEl § ¥ B9 wr/9 B

el 8 /87 '

(1) froe af @ g ¥ TR ¥ omdes d
H[aiferep TR werdl gof @ T 2|

(2) fUwel ad @ g W e ofie fee 2q
ardeq # |aite ufoea gfg <ot @ wh
o) 368

e ¥ ™ g 1 T RS 98 SR Bl

T BTG —

a&?_
(a) ®aer 1 (b) Bad 2
(c) M 13k 2 (dFar1ars 2.

ARG H ST i &1 oed fhg 9d da
feiRa far &2
(a)zrti2045ﬁ§s"
(c) 9% 2075 P

(b) a9 2070 TP
(d) a9 2080 &
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140.

141.

Which statement is true for Finance Sector (Fiscal
Management) in the Union Budget-2023?
(a) Twenty years interest free loans to states.

(b) Fiscal Deficit of 3.5% of GSDP allowed for

states.

(c) Fiscal Deficit 2025-26, the target is to be
below 5.5%.

(d) Budget estimates 2023-24
expenditure is T 55 lakh Cr.

for total

According to Economic Survey 2023 about

services, which statement among the following is

not correct? '

(a) Credit growth to services is above 16% since
July, 2022.

(b) 75 digital banking units announced for
transforming financial services.

(c) Fashion, grocery and general merchandise -

will be captured nearly two-third of the Indian
e-commerce market by 2030.

(d) pP.M.I. services witnessed strongest expansion
since July, 2022.

140.

141.

Sy gwe—2023 # fxfw &3 # RNy
yaw) @ fog B9 W1 aed |el €7

(a) <o BT 49 99 B forg o g |

(b) STTa A, BT 3.5% SHNT °IE DI IS
@Y AT |

(©) 202526$%ﬂwﬁﬁaméc—h’r55%ﬁ=ﬁﬁ
G BT A& |

(d) 2023-24 B quIC AT H Pl A 55 AT
PRI OUY B |

JAarait @ s ¥ e gderor 2023 #H, fFr=feRan

oAl ¥ § B 9T AT el T8l 8¢

(a) STelTg 2022 ¥ HFST WS AT 16% | SR
=l

b) 75 feftea dfhm gwsal @ amen faxi
Jaralt BY dedy @ forg & TS B

(c) B, AT 3R TR doSIsH 2030 TP
IR - IR B T & fiEs
LA U ®I Y |

(o). S.ow.3TE, Jareli 2022 TS & W AW
fawR @ T |

142. Which of the following is/are the type/s of . 142. fer=ferRad # A /4 fFelHar &1/ ga6R
poverty? B /e
(1) Absolute poverty (1) Tﬁ (<) el
e S e
: (3) afaurs e
(4) Functional poverty
Choose the correct answer using the'code given (4) g e
below — "vﬁ%ﬁ?wz@aﬁﬂﬁwﬁgﬁqu
(a) Only 1 and 2 (b) ‘®aly 1, 2 and 3 (a) Paet 1 3fR 2 (b) ®act 1, 2 U9 3
(c) Only 3 and4 (d) Onlyland4 ~ (0) BT 3 UG 4 (d) et 1 TT 4
143. WhicH of ‘the following (Scheme — Year) is not 143 f=ifoiRad ¥ 9 BF e (@ - a¥) ae
corvectly matched? - gAfera e 87
(a) Deen Dayal Upadhyay Gramin Kaushalya (@) A TaTeT SURIR UTHIOT DIYedT ATl —
Yojaha 2014 | e i
(b) Rural Housing Interest Subsidy Scheme - 2017 e 3@??-' Hﬁ‘\q@ RS
(¢) Shyama Prasad Mukherjll Rurban Mission -
2015 . (c) T UHIE HESll wzi-vr e — 2015
(d) Sansad Adarsh Gram Yojana - 2014 (d) e arest I BT — 2014
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144,

145.

Which of the following scheme/s is/are related to
Uttar Pradesh?

(1) Anuthee Uphar Scheme

(2) Matra Shakti Udyamita Scheme

(3) Kaushalya Matritva Scheme

(4) Stree Nidhi Scheme

Select the correct answer using the code given

below -

Code -

(a) Only 1 (b) Only 2

(c) Both 2and 3 (d) 2,3and 4

Which of the following Scheme/Programme is

not the Central Government Programme and it is

Uttar Pradesh Government’s Programme?

(@) MGNREGA (b) Gramin Swasthya
Mission

(¢) Ganga Expressway (d) Pt. Nehru Utkarsh
Mission

144,

145.

ﬁﬂﬁf@ﬁﬁﬁﬂﬁ??ﬂmﬁ/ﬁwmﬁ
Hafed 8 /8?

(1) ST SUBR AT

(2) ArgfdT S=ffar Jrer=n

(3) PRI A FrSTT

(4) & e greET

1 Ry T e & wE o gy —

a-,_c"_

(a)ir’:aal (b) Baer 2
¢) TN 2 3R 3 d 2 3 3R 4

ﬁw%f@aﬁﬁaﬁﬂwmrdwﬁuw
Waﬂﬂzﬁqﬂﬁéaﬁ?uﬁwmﬂwaﬁ
ISTT 87

(a) F=RATT (b) TTYoT @Ry A9
() T TaeyH 9 (d) uf$d -&® Sy
RIS

148. Who has written the book “From Dependence to 146 " f3UsW 2 o Redw” (e & o@s
Self Reliance”? g — :

(@) Y. Venugopal Reddy (b) C. Rangrajan a) 978 IUFTITA YS! b) A, TR
(¢) Raghuram Rajan  (d) Bimal Jalan () TR TS d) fee S

147. Which of the following is known as “World 147 fiey % 9§ 19 @7 f'?’rﬂff 33?‘1'03'\“[ fGaq” & wu
Wetlands Day”? ; H ST ST 27
(a) 10 January (b) 15 January (a) 10 S (b) 15 SF=a
(c) 1 February (d) 2 February (€) 1 HRasy (d) 2 THxad

148. World Social Protection Report is published'by - " 148. fawg wmifore wxeror RuId ywHRa @ ol & —
(@) World Bank (b) World Health ' (a) faeg 9@ gwT b) favg w@rRy wieH

‘ Organization gIRT
(€) International Labour (d) World Economics (c) RIS 3 (d) fawg anffe w9 grr
Organization ~ Forum ST g

148. |n which year, “Mid-day Meal Scheme” was 149. “Hegre HIe= o1 ®F “G.U8. N0 i A
renamed as “P.M. Poshan Scheme”? e af gemifAa favar T
(@) 2018 (b) 2019 (@) 2018 # (b) 2019 #

(c) 2020 (d) 2021 (c) 2020 # d) 2021 #

150. Which - of - the ' following (Union Budget 150. fF=iforiRa # & & U (F=rg doie fawm
Departments 2023-24 - Allocation amount 2023-24 — AN rEfed ¥ ) |E gafoa
approx. ¥ ) is correctly matched? 4
(@) Ministry of Health —X 89,155 Crore (a) TR HATAT — 89,155 TS I
(b) Dept. of Health and Family Welfare —Z 80,000 (b) W@y Td YRAR FedmvT HATGT — 80,000

Crore ‘ B T
(c) Dept. of Health Research —% 9,155 Crore (c) wree N fAWTET — 9,155 PNIS T
(d) Pradhan Mantri Jan Arogya Yojana — ¥ 5,000 (d) gEI=HAT &9 3MRFY IeET — 5,000 RIS
Crore I6i
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=

ﬁ ST9 e 3MID! g GRIe9T YRABT @i DI 7 Fel oY a9 ab 7 @iei |

2023 @€ : JULIET-2-24 | a‘é’

freg . HHENT EGIT—II 5

IR ?:

g

12

|G : 2 "o | Ui : 200
YT D AHA dfT B IRl H
e ford e

UHFl & SR B ol $ad dlel Sfa—dige UF BT YA BN |

mﬁw—mwwﬁﬁﬁ%ﬁmﬂaﬁsﬁaﬁwﬁ@%ﬁl

JHTIP] I T SR DA SUR—UAF TR & &7 & | WET & S SR-I3P 3 Jo1 9o F19ee &1 |7 < |

. W U @ SR | | Ul @ i HH E

. SR-TFH R A AU FE TTHHD, AV, T BT G FIS T WA Sifed B AT IIR—TTD BT

qid el far S ok Swal Rmer) wd sl @ gnft

. o9 oo gRa@T # 100 U B | TG U § IR-(@) defous SR WY @ A Ry MU ¥ | 39 A”i # W dad

T B |el SR & | fO SR @1 o wEl arwed ST §Hsd €, St-UFe ¥ e ER dard gd Bl bl

dfe—dfse U9 | IR BIel X | |

. 3HHID P STl UNIETT GROPT B HaR UvT R Fo 1 ford | W v @ forg e gRae @ e A Ry g

T g BT W BN |

. U gREET § e (U9 6 1 W40 @ Riar) sl 7 =) <t Wit # gfew &) fgwnd (R=h /emeh) |

el +f argsear & " §, SIS HEHROT yHrdl BT |

. ONIETYT GRAIST Wi & R 918 il XD <@ of [ WeuT gRaeT © | U Hell—Hifd B9 §Y & | afe 9o

gReT §.PIs HHL BN, A1 Fies B REes S AN 9 Bre 3 gEd g gRIst uw B o |

R [ 5 s s e ol A

STR-UA%. H SHIGER &R Ry 1Y e sl @ forg gve far wimgm|

- (i) " TS 9 @ U OR dfeud STR & | SHICIR ERT Y9 e @ oy 3y Y ue e SR @ fg uee
2g fad &t 1y sial &1 ye—fiEE sve & wu § ser S|

(i) afz B2 IFCIR UF ¥ /s SR a7 &, O SH A SR AT S0, Je {y Y SR H W U@
I el B o, R i 99 ue @ fo SugegeR 8 SHl ORE @ s faar Sy

(i) I SHCaR N1 DI U & &l (bl WaT & 3 SHIGIR g1 9OX 78l (QdT oiem €, o 99 999
@ forg @ig que wEl o S |

e dF AMUB! I8 T GRAST Wi BT 7 HET WY a9 T T @i |

Note: English version of the instructions is printed on the back cover of this Booklet.

AT TS0 | i e AR RO




1. fafaRed § w8 favm o 9 gaa a9 &1 9919 $iferg —

(a) gAY, AL, 98 M I B | (b) ! eworl iR U wR F|
C) THERET MER—IOre & | (d) 7 oy BRER ¥ 3 © © |
2. "Ryl 7 wda! SuRYT W& &1 ey far &7 H &9 91 94 &7
(@) 4 ara (b) @ A=
(¢) &% vd @g are @) Swfga ¥ & P T
8. ffoRea arei § 9 a8 argg gAY e adaHe faemer &1 gaer fear @ § —
(a) 98 §ga W4 & | (b) @&l AP AT IURLIT o |
(c) dfa <fiex qu @RIar| (d) @ M 3T & 2 |
4. ‘I’ H P G 87
(@) T[oT HiY (b) gfg wfer
(c) o1 |y (d) arfe €fg
5. & 2ral | B BT BAT AT BT GRIT WY, S —
(a) forar—faemor wea € (b) WM HEd B
(c) forar wed & (d) 3ol T wed &
6. PR T WM BT 3 W TP A TE B, T/ R —
(a) & (b) wfgm
(c) faure (d) T9E@
7. s 9§ fadm—w=l &1 |E g B —
(a) SMHTT—TART (b)  3rcei—erast
(©) T Eg—S9E (d) /wraR—dad
8. f=forRad # U Tea—TrH "HREE P GIRETE TE & —
(a) eu-—favog (b) fART—domarfor
(c) TRET—darfren (@), AR—aron
9. f=forRad # & Bl SAidifda e ol wfgd wer 27
(@) < 91l |1 B W — HEHIU (b) TH BT 99 WA § — ﬁwwm%"l
(C)?%WW%,me%—wﬁﬁm off STQ, & 7 W — & & are
|
10. g9 ¥ PIF—1 TG Teq 87
(@) IFTPR (b) 3mH
(c) 3muTe d) 3%
1. i # & e I @l ¥ ® —
(a) IRI ; (b) . reiiaT™
() soI (d) 9oR

e yem A= 12 ¥ 16 @ o —
ﬁﬂﬁf@amaﬁmﬁqﬁqumuﬁmaﬁ%ﬁ?%ﬂﬂm%wwﬁﬁw—
“BR U I YU HEBIA P I UR B YIRS BT 2| WiBIP GRIex D ARG W & 98 (9T oiad

I, SUIT, 31T AT A<HT 91 Fhal & | TR AR G¥pla § afie ww=r gid gy o X 2|
S DI AS FRAT I=1d G991 DI AT DT A0 WP & AR I ARERN | 9T Sfia Jomedl &1
wwél%ﬁwﬁ%ﬁ%uﬁﬁmﬁﬁwﬁmwﬁwwmﬁl

12. TTEITET BT Gel YD & —
(a) wg & faer § Wwpfa &1 AFTeH (b) w%ﬁw#wwmﬁ :
(dw%%mﬁuqﬁ-‘rwa‘nmﬂ (d) g & fAenT & aRRefa &1 arem

AT R AR




13.

14.

15.

16.

7

18.

19.

20.

21.

22.

23.

24,

25.

(a) Wt & ¥ W

() Wil & 9o W

Tene ¥ 6 wew &1 AN g 27

(8) wepfer

(c) wwgar

TS X1 B HEpRT a8l B —

(a) Wrmifers uRReET w f frfe 21 &

(c) Fare gRRefAT TR o iR 2 2

6 sheifrs TRRefE v 4 Fri e @
(d) Suad ¥ I B TG

| 3R HRphT F —

(a) daer afis == 2 (b) Paer SR B :
(©) P T T R ) =frS T B gY A R @
ferwfi et srge wre T & -

o (b) 3yueT wadrar

(c) oS ERht s

Y ST W b arelt @) STHTT @ i ot 27

@) T : (b) HATAGT

e (@) BT

"Il e e ¥ Rl g8 27

(@) TIRAH srower o NG iy

(c) wmTeft argwer | 0 g 8 ot
Fretferem & & g @ & - '

(a) m@mm%i

(c) BT 7 WEFHA BT AT 9= e fba |

b shpet & s W 2|
(d) F@waﬁqgﬁqqmmwgl

Frerferfas % & e v a1 @ oI ¥ aior—at weh gl 7

(a) SRifeR @ o <1 Ry o |
() g fbwr en # ued &)

rerfofeaes % & @ e a2

EfeT T RT3t & —
(@) 9/ BT

(©) gfEam

A BT gt weg T8 ® —
(@) wfiwer

(c)._fac==n

frrf () @7 SeERoT e & —
(@) @y

(c) dreT=™

(b) S gET IHY e form |
(d) Wqﬂ@?ﬁ[wm%l

(b) &=
(d @R

(b) W

(d) IBR HI

=2

(b) frgerm
(d) Tawar

(b) 37
(@)  srgTR®
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26.

27.

28.

29.

30.

31.

32

33.

Instruction for the Question Nos. 26 to 30 :

Read the following passage carefully and answer the following questions that follow:

We in India have our own special problems. No one can deny that some of them are of a serious nature
and must be attacked with vigour and determination. Our national objectives have been defined clearly.
We aims at providing every citizen with the basic necessities and complete freedom to lead a life of his or
her own choice. We aim to create a democratic society, strong and free in which every citizen,
irrespective of his religious beliefs, will occupy an equal and honoured place, and be given full and equal
opportunities for growth and service. We aim at ending untouchability and doing away with the present
inequalities of status and wealth. We are opposed to the concentration of wealth in a few hands.

This passage could most probably be a part of -

(@) The Indian Constitution (b) A book on Political Science

(c) A Speech (d) A Personal Letter

Tp)
o
(%))

According to the author our national objective %’c;lo -
[

(@) create unequal opportunities for all. (b) promote individual freedom and prosperity.
(¢) end economic prosperity in the country. (d)  favour the concentration of wealth in a few
hands.
Pick out the wrong statement -
(@) The problems of Indians are like anyone els]%s. (b) Thereis no uncertainty about our national
2% objectives. : |
(¢) Some of our problems can be handled only By (d)". Our goal is to build an Indian free from
strong people. g{j economic exploitation.
The underline word in the passage ‘vigour’ means -
(@) physical tension (b) forcefulness of language
(¢) loose temper : (d) force
What is the synonym of the phrasal verb ’doing@vay'with’ used in the passage?
(a) abolish & () doing with
(¢) remain forever 2‘8 (d) create
Change the voice and select the carrect passive%ice from the given options -
Someone gave her bull dog.
(@) She was given abull dog. (b) A bull dog was given to her.
(¢) She has beengiven a bull dog. g (d) She is being given a bull dog by someone.
Fill in-the blank with the appropriate word give&%)elow.
The Air India...............concessional tickets these g?ys.
(@) is.issuing N (b) issues
(€) lissued : (d) have issued
Transform the following simple sentence into complex sentence -

He admitted his mistake.
(@) He admitted that he was mistaken. (b) He admitted to making a mistake.
(c) He admitted that he was making a mistake. (d) He admitted that he had made a mistake.
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34. Select the correct indirect speech of the given sentence -

35.

36.

37.

38.

39.

40.

| said to him, “Let us go out for a walk.”

(a) Isuggested him that they should gooutfora  (b) | requested him that we should go out for a

walk. 3 walk.
(€) 1told him that they should go out for a walk. % (d) 1suggested to him that we should go out for a
g walk.
Which of the following is correctly punctuated? ; -
What a beautiful painting did you paint it.
(@) What a beautiful painting did you paint it. (b) What a beautiful painting -did you paint it!

(c) What a beautiful painting: did you paint it? g (d) What a beautiful paintingi Did you paint it?
(W)

Choose the correct word which is opposite in meazghg of the given word.

Recede ﬁ
(@) Rush (b)  Advance
(c) Approach 4o (d) Forward
Find out the misspelt word -
wH
(@) seize gg(b) decieve
(©) believe %(d) reign
(o

Choose the correct one which best expresses the féaning of the phrase of the underlined words -

| am like a cog in the wheel of this company.

(@) atechnician : (b) the least paid employee
. Lo
(¢) an important person % (d) an unimportant person

Choose the correct word which expresses the meauc-l)ing of the underlined word of the sentence given
below - g

Deepak has a penchant for fine poetry.

() Desire’ (b) Bias
(c)Liking (d) Training
Censider the’ following statement and choose the correct option -

The Dashis used -

() To indicate an abrupt stop or change of thought

(Il) To resume a scattered subject

(@) Only (1) (b) Only (il)

(¢) Both (1) and (I1) (d) Neither (1) nor (11)

A2 2153102 R O




[A-2-24] 153102

41. Find the odd one from the given alternatives - 4. i3 W el # 1 favy gAo —
(a) AXcz (b) JOKQ (@) AXCZ (b) JokQ
(c) TBVD (d) FRHT (c) TBVD (d) FRHT

42. Blind and not blind is an example of - 42. 3ferr R I 8] UH SQENTT B —

(a) Qualitative data  (b) Quantitative data (@) TUTHD THD (b) HEATHD THD
(c) Both (a) and (b) (d) None of these (©) (a) SiiR (b) <1 (.d) ? W PR

43. Which of the following is determined with the 43. 3mgd o =1 & & fowgs FuRe & e/
help of histogram? HT 27
(a) Arithmetic mean  (b) Median _ (@) FHR HEY (b) wrfeerent
() Mode (d) Harmonic mean : (c) ggcd (d) BTHS HEY

44. 11 observations are arranged in ascending order.  44- 11 UeT0ll &I RIS HH H FdRIG fhaT ST 7 |
If 10 and 9 are respectively the arithmetic means Ifg 10 Tvd 9 FHHAI FH 9 99 RIEF W IH
of observation on even and odd places, then the grel YUl & THIOR AT €, d7 9T 11 el &
mean of all 11 observations is - ey B —

(a) 9.50 (b) 9.48 (a) 9.50 (b) 9.48
(c) 9.45 (d) 8.63 (c) 9.45 (d) 8.63

45. |f the area of the base of a cone is increased by 45 IS & Tich & AR BT &ABA 100% FaT &7
100%, then the volume is increased by - O, A7 S8 I § gl snil —

(a) 200% (b) 141% (@) 200% (b) 141%
(c) 182% (d) 100% (c) 182% (d) 100%

46. The semi diameters of bases of two cylinders A 46./Gl 4l A TT B & MRl & JSAN 32D
and B are in the ratio 3:2 and their heights are in SUTT H € T S Al n:l & U H
the ratio n:1. If volume of cylinder A is 3 times of 2| Ife 9999 A &7 gaH, 9999 B B AT Bl
volume of cylinder B, then value of n is - 37AT 8, S n BT A B — :

(@3 (b) % (a) 3 (b) 4
2 3 2 3
(c) 3 (d) 2 (c) 3 (d) 2
4 3 4 3

47. If the radius of a cylinder is increased by 25%, 47- AfQ 99 @1 AT § 25% @1 gfg PR & WY,
then by how much percent the height must be a1 S & fras gl germ o R 3o
reduc'ed, so that the volume of the cylinder L Rafia w?
remains same?

(@) 36 (b) 42 (a) 36 (b) 42
(c) 58 (@ 62 (c) 58 (d) 62

48. If both'the-square root and the cube root of a 48 e fo5dl A1 bl areh Ul & & e
three digit natural number belongs to the set of 9 Ul G 8 UIpie R & T &
natural numbers, then the sum of its digits is - e B, A GIT P 3ihi BT AT & —

(@9 (b) 10 (@9 (b) 10
(c) 18 (d) No such number (c) 18 (d) DIs U =T
exists faerm 98 &

49. HCF of two numbers is 25 and other factors of - 49- T HERN &T HCF 25 B TAT SUP LCM & 3T
theirLCM are 14 and 15. Sum of the numbers is - qUETS 14 3R 15 % | W& $HT AN & —

(a) 700 (b) 725 (a) 700 (b) 725
(c) 750 (d) 775 (c) 750 (d) 775
Page 6 of 16
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50. Choose the set of numbers from the alternatives ~ 50. fidedi # ¥ sii & W= BT gAT ot Gikeen
which is similar to the set (6, 36, 63) - (6,36,63)F WADY & —

(@) (8, 64, 46) (b) (7, 49, 98) (@) (8, 64, 46) (b) (7, 49, 98)
(c) (94, 44, 5) (d) (11, 111, 84) (c) (94, 44, 5) (d) (11,111, 84)

51. |f the LCM and HCF of two polynomials are (x+1) 51 af¥ =7 9gucl & LCM 3fR HCF A (x + 1)

(x? + 6x + 8) and (x + 1) respectively and one of (x? +6x+8) TAT (x+1) 8 3R ST | (P 98U
the polynomial is x* + 5x + 4, then the other is - X2+ 5x+4 8 dI ENT g g -

(@) x2—3x+2 (b) x2 +3x +2 (@) x?—3x+2 (b) x*+3x+2

(€ x2+2x+3 (d) x2—2x+3 (€) x2+2x+3 (d) x2-2x+3

52. If after selling 30 pens, the seller observes the 52 IfE Ue fAddr &1 30 e =9 @ a1 10 HoH!
profit of sell price of 10 pens, then the profit % g Hed ®I o™ BIAT B, A A9 $T gfawd
percentage is - : - :

(a) 33.33% (b) 50% (a) 33.33% (b) 50%
(¢) 66.67% (d) 200% (¢) 66.67% (d) 200%

53. If two dogs start running in opposite directions 53 ufg T Gl Uh 7 AL @™ 9l gABR U W
on a circular path of diameter 7 m with the speed fausia feemaii # 2.5 #1. /Yave vg 34, /APve
2.5 m/sec. and 3 m/sec., then how long will they DI AT DS IRY BRd 2, dl AuH H
take to be at maximum distance? HferpTd R EM A S5 o wHa o
(a) 1 second (b) 2 second (a) 19®s (b) 2 Avs
() 3 second (d) 4 second (c) 3Pvs (d) 4 TJpvs

54. If X men complete a work in 40 days and after 54 IfX X SMEH TP BE BT 40 A ¥ @ FRA ¥
adding 5 extra men 10 days are saved, then 30 gy s sifoRaw smeelt @ 9 10 R & s=a
men will complete this work in - eIl &, <1 30 37 $9 B BT GRT T —

(@) 40 days (b) 30 days (@) 40 fe=} # (b) 30 f&AT #
(¢) 20 days (@) 10 days (¢) 20 fa=T % (d) 10 f3=1 #

55. Three numbers are in the ratio of 3:4:5 and their. 55 o= Hw&ITall 7 SruTa 3:4:5 8 T4 S99 HCF 3R

HCF and LCM are 40 and 2400, respectively, then LCM $hHel: 40 3fR 2400 € a1 S8 a9 ¥

~ the largest number is - HE 2 —
(a) 40 (b) 200 (a) 40 (b) 200
(c) 240 - (9 360 (c) 240 (d) 360
6. Assertion (A) - Interpersonal attraction is a part  56. aiffi@er (A)— Siddafad anHEyv AHINTS
of social interaction. 3AAHAT BT Th 91T 2|

Reason (R) — It is necessary-for survival. HRYT (R)— I8 Faxsiiaar %@ AMATF 2 |

(a) Both (R)-and (A) are (b)-Both (R) and (A) are (@) (R) @R (A) Fi (D) (R) 3R (A) 1
trueand (R) is true but (R) is not | & 3R (R), (A) | g fdg (R), (A)
correct explanation correct explanation P HE AR FIAT DI Tl ARAT 8]
of (A) of (A) 2 Bl B

(c) (A).is true but (R)is (d) (A) s false but (R) is (€) (A)u<a & fb=g (R) () (A)7Tad ® fog (R)
false true Ted & g &

7. Which communication network promotes an  57- 3% W 9 9T WUR o3 A AT & ovw @
individual to communicate  confidential ST IAEBRT Al 39 =1 JWFERT Bl
infermation only with his immediate superior or T SRl Y 9 Ao 2ar 2
subordinate? : -

(@) Gossip — chain (b) Cluster — chain (9) TR ! (D) TS A
(¢) Wheel - chain (d) Single - chain (€} diges ATl (S Repel = Al
[A-2-24] 153102 . Page 7 of 16
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A e P B raH 9 ue @ sifNeYH (A)

58. Given below are two statements, one is labelled 98
as-assertion (A) and other is reason (R) - 3R {gﬁ P BRI (R) BT TIT & —

Assertion (A) — Oral communication is a useful s (A)— ARed FAR T ITAET HER

channel of communication. BT T |
Reasonu()R) — Because oral communication has no 1 ey
5 proof what has been communicated. PR (R) & o WW:@ ?%:TJ: o

zzllzi: @e correct answer using the code given i T 3 o ?;{ﬁfﬁ' 4

(a) Bot!ﬁ?(A} and (R) are (b) Both (A) and (R) are (@) (A) 3% (R) ST (0) (A) aﬁ? (R) @
true and (R) is true but (R) is not A € R (R), (A) e & ﬁ’T‘j (R), {A)
correct explanation correct explanation Pl e AT T DY HEl AT Tl
of (A) of (A) 2 IR &

(c) (A)is true but (R)is (d) (A)is false but (R) is () (A)wT & g (R) (@) (A)Terd © feg (R)
falsey true T & A ®

59. |nternakeonflict that occurs, when people receive 59 3fAR® T1d, 519 T Rafg & &R S B,
inform@on incompatible with their value system St 6 e ariaRe Hoat @& g g@ e
;;kf;fm:s- diide> ) B9 W o 8, 99-f6% w9 § T o 87

ognitive nvironmenta : S A
Disgsonance Dissonance /<= ] (B) wartereei .
(c) Social Dissonance (d) Political Dissonance (c) i fawiiy (o) wrorifoe fawf

60. Which one of the following is not a type of  60. fy=ifaiRad % & &9 A T Yomell SHI=TRD
informal communication network? AN Hedd Bl UPR -Tel 8¢
(a) Profability (b) Cluster (@), FHrerar (b) ¥HE
(¢) Gogsip (d) Circular () oy (d) wpeR (ARu)

61. Given below are two statements, one is labelled 61. Hir a1 $F Ry v & R9H 9 wa @1 sifideE
as assertion (A) and other as reason (R) - (A) 3R IR PI HROT (R) FET TAT & —
Assertion (A) — Clarity of communication is BT (A) — HAR BT TEdT FIEY0 FaR

essential for effective ufthar & forg mavwas 2|
communication process. PRI (R) — Fifp Tt (qaiaan) vd esfHT
Reason (R) — Because adequacy and timing is not (F=a IBEIE)) EI’HTEF{”T g ufspar
O essential for effective & forg amava® T8 g1
&y  communication process: 41 faw 77 e 9§ el SR gy —
Select {:@'rect answer using code given below - (a) (A) 3R (R) ST (b) (A) 3R (R) T
(a) Both{A) and (R) are (b) Both (A) and (R) are a7 ¥ 3R (R), (A) g & fb= (R), (A)
true and (R) s . trite but (R) is no.t 1 TS T BT 9 9 @ T8
correct explanation correct explanation '
of (A of (A) 8 ¥ 8
(c) (A) is true but (R)is. (d) (A) is false but (R) is ©) ()& & f&g (R) (d) (A) Tera ¢ fg (R)
false true Td B |4 &

62. Select one alternative from the following, which  62. fmfaiRad fadedi # & fvell U fAded a1 g,

is not a way of dealing with rumours - S 3TATE DI oISt BT aXIbl 7 B —
(a) Providing facts (b) Reduction of causes (a) G279 SUee] BT (D) BRUN BT HH BRAT
(c) Use of reliable (d) Concealment of fact () freaeria Sl @1 (0) TR & Yol ¥
sources from |eac.iers of i e o
community feuTT
[A-2-24] 153102 Page 8 of 16



63.

64.

65.

66.

67.

68.

69.

70.

Originally who developed the concept of
‘Transactional Analysis’?

(@) Joseph Luft (b) Eric Berne
(¢) Harrington ingham (d) None of the above

Which one of the following is not a psychological
barrier in communication?
(@) Bodily expressed  (b) Premature
message evaluation
() Distrustin (d) Inattention
communication

In the communication model, the process of
putting the ideas into a message is known as -

(a) Persuasion (b) Encoding

(c) Decoding (d) Interference

the
communication process in correct sequence —
(1) Source

(2) Channel

(3) Receiver

(4) Message

(5) Feedback

(6) Noise

(@ 1,4,2,3,6,5
(€) 1,3,4,2,6,5

Arrange following  elements  of

(b) 1,2,3,4,5,6
(d) 4,5,6,1,2,3

Which one of the following is NOT a component

of listening?

(a) Sensing (b) Evaluating

(c) Responding (d) Persuasion

Paralanguage is related to -

(a) Interpersonal skills () Verbal
communication

(d) Downward
communication

Shyam s friend of Ram. Pointing to Manish,

(¢) Non-verbal
communication

Shyam asked Ram, who is he? Ram said, “His son
is my son’s uncle”, Manish is related to Ram as -
(@) Father (b) Father-in-law

(c) Grandfather (d) Brother

If on 31°*March, 2008 is Monday, then what day
shall be on 31% March, 2011?

(a) Sunday (b) Tuesday

(¢) Thursday (d) saturday

63.

o 20659D5

2065985

~
I

5905

70.

5.

Al

HeaeR fageyor Rigid ®F qod: |dyem fhas
ey favar?
(b) TR &

(a) SRIw e
(c) efRwres gem (d) ST # & B 7E

. FrafiRed % 9 B9 WAR ¥ ve sk

IEIT 81 27
(a) MRS w9 =3 (b) T | Yd b
RSLE]

(¢) ¥aR # arfdgara () g

HAR Hisd ¥, [GaRl &7 dawr # srem @ ufthan
I e w9 H ST ST 87

(2) 3 (b) SHepeitenRoT

(c) SrFdTIIBRUT (d) gwaey
- AR Yihar & AefolRaa dwl o 9El B9 §
AR BIRTT. —

(1) &=

(2) =TT

(3) wTIHar

(4) FaET

(5)vfegfie

(6) TN

(@) 1,4,2,3,6,5
(€) 1,3,4,2,6,5 -

(b) 1,2,3,4,5,6
(d) 4,5,6,1,2,3

F=foRaa & & @19 s &1 9 A8 27
() e (b) FiepT
(c) wfcrfshar &= (d) 3rg7

- URTHTYT (URTeiTIST) Safed & —

(a) era:dufdas Bl (b) arfre Fuyor 9
3

(c) ararfaes FU9Or & (d) STl WU§er 9§

- M M BT 73 § | T @) SR SART A 89

M A M ¥ 9B 6 98 $F 87 I T FE,
“IHPT 9CT A IC HT AT & |7 A9 BT 9 |
Fa7 e 27?

(a) fora (b) TR

(c) gTaT (d) wrg

Ifq 31 A1, 2008 P AHAR B, dF 31 9, 2011
BT DI 3T BI?

(a) Xfaar (b) HITTAR

(c) gefar (d) srfvarR

[A-2-24] 153102
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7a L

72.

73.

Which one of the following years will have the
same calender as of 2009?

(a) 2014 (b) 2015

(c) 2016 (d) 2017

Refer to the statements given below —

I. All boys are truthful.

Il. Kamal is boy.

Conclusion -

(1) Kamal is truthful.

(2) All truthful persons are boys.

Select the correct answer using the code -

(@) Only (1) is correct  (b) Only (2) is correct
(c) (1) and (2) bothare (d) Neither (1) nor (2) is

correct correct

There is a clock, that is 3 minutes late on Sunday
at 2 p.m. and it is 5 minutes fast on Tuesday on
2 p.m., when did the clock show the right time?

. = & 9 fog 99 &7 delsy 99 2009 P TRE

&7 EATT?
(a) 2014
(c) 2016

(b) 2015
(d) 2017

. 1 BET @1 e of —

. T qTeiep Fearar © |

II. PH dTeTP B |

e —

(1) A FTATET & |

(2) &1 FEE) STeE B & |

4 Ry MU FHe HT YN RS FE SR

g —

(a) Baer (1) F=r B (b) Baet (2) T &

(©) (1)@= (2) &1 |E (d) 77 ar (1), 7 & (2)
g el

. Udh G9! O JfIaR P quER 299 3 A9 9 @

3R HTaR @ QUs} ¥ 2 99 5 fAEe I 7
39 U 7 31% 99T $e fewmrn?

(@) Monday 10a.m. - (b) Monday 8 a.m.
() Tuesday 2 a.m. (d) Tuesday 6 a.m.

(a) AR gas 1095 (b) HHIR Fag 8 I
() FeTqR gag 299 (d) AIEIR Ya§ 6 IOl
74. The relation that is there between 6 and 16, 74. W1 He 6 9T 16 ¥ &, 98l Weyg 12 ToI

remains the same between 12 and ............... Dt S e
(a) 23 (b) 29 (a) 23 (b) 29
(c) 34 (d) 42 (c) 34 (d) 42
75. This is a number series given below. What wiltbe =~ 75- 19l 3id @1 & T3 2 | SHDT SFTAT 3AH DI
the next number in the series? |1 BT?
1:0: 578,17, 24 .........4 150,05, 8, 17285k
(a) 37 (b) 35 (a) 37 (b) 35
() 33 (d) 31 (c) 33 (d) 31
76. statement : College students should be 76. P : Blciol B BIAT DI oD TR J
restricted from participating in AT o & ufyefa fhar s @iy |
political activities. T )
Argument : () Yes, college students should T - (1) 81, Pielst & B H1 JUAN TST TR A
concentrate on studies. T =Ry |
(1) Yes, colleges are becoming battle () BT, BierT IoRE Tali & forg T @7
ground for political parties. e

Select the correct answer -

HE ST BT TIT DY —

(@) Onlyargumentlis (b) Only argument Il is

‘strong strong (@) Bt I | Y9 & (b) Bact T Il e &
(c) NeitherInorllis  (d) Both land Il are ©adrds | AR TN () SH 1TF Il veaT &
strong strong Yed & .
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T

78.

79,

80.

81.

82.

83.

84.

Arrange the following words in the meaningful
manner —

(1) Train

(2) Car

(3) Cycle

(4) Bus

(@) 1,2,3,4 (b) 3,2,4,1

(c) 3,4,1,2 (d)1,3,4,2

Anuj is facing North-East. He turned 90° in the
clockwise direction, then 180° in the

anticlockwise and then another 90° in the same
direction. Which direction is he facing now?

(a) South — West (b) North — West

(¢) South — East (d) North

Select the related number from the given
alternatives — '

L | By e
(a) 48 (b) 50
(c) 51 (d) 49

Find the correct alternative from the following —
Glasses : ? : : Bicycle : Unicycle

(@) Monocle (b) pedal
(¢) Mirror (d) Face
Who has said, ‘Decision making involves

evaluating alternatives and making choices
among them.’?
(a) Rathus
(c) Baron

(b) Santrock

(d) Matlin

Inductive reasoning is based on -

(b) General to specific
principle

(a) Specific to general
principle
() Bothtype principles (d)'None of these

Algorithm is a type of -
(&) Mechanical solution (b) Heuristics

(€) Rule of thumh (d) Means-end analysis

Functional fixedness produces ...........ccec.. in
problem solving process.
(a) Facilitation

(c) Partial facilitation

(b) Blocking
(d) No effect

T/

frefae el @ waifte  seigd wu 3
FrafRerd & —

(1) vei

(2) PR

_ (3) e

78.

79.

80.

81.

82.

83.

84.

(4)s¥

(@) 1,2,3,4 (b) 3,2,4,1

(c) 3,4,1,2 (d) 1,3,4,2

IS BT JE TTR—Yd @l IR | 98 90° TG B
ferem # €, = 180° arrast fem # 3R fibe g1
90° ST feem # ¥ | @ I' fbw fi=m o s

S 7

(a) gferor — ufdem (b) STR — uf¥aH
() afRror — (d) TR

Ry 7w fawedi & wafm wem &1 @+
HIfTY —

467 55757 :

(a) 48 (b) 50

(¢) 51 (d) 49

Frafeifas # 3 v ey &1 =g e —
EEG IR | 1 o R G I

(a) HHTHT (b) st

(c) sfrem (d) T&T

AT SH W =TT FRAT 272

(a) very (b) Hvgtew
(c) a== (d) Hefor
ATTHATHD aP AeRa & —
(a) faffre & WA= () 9= 9 fafdee
Rigid w? frgia uz
(c) T vbR & Rigiai(d) 398 4 g 748
o rg |
TATRYH U UbR & —
(a) Tt THRIE b1 (b) Wa: o B
(c) euaeiR® g\ &1 (d) JreE—areg fageyor
P :
ybTHE  Remdr g9 9EEE uHhH H
............................. I~ Bl 2 |
(a) HEr=Idr (b) grer
(c) 2rif¥rep HeTadm (d) g wqrg &

[A-2-24] 153102
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85. |f a subject attempts to solve a problem on the 85 % ®1E yag R GERT BT AR A
basis of his past experience, it is called - qElgHa & MR W YA BT AT FRAT g,
(a) Transfer effect (b) Confirmation bias T BB ] él
g j a) 3FRT GG (b) JEEHROT GeTT
(¢) Mental set {d) None of these o) TR R 8 o7 & PrE T
86. For one possible solution after another is tried %3, W T R ﬁW Thordr e @
until a successful one is found, is called - L!C‘; L3 P31 02 RS R | S e ety el oral B
(@) Insight (b) Guess S (a) 9=t (b) A
(c) Trial and Error (d) None of these Y (o) T e (d) 379 | BIE &l
87. Which one of the following is not used by the 87 forifee # 1 DIFIT Teh FHET AT 31 fafd
people as a method of problem solving? $ w9 ¥ AN gRT SUAET H e AR ST By
(a) Heuristics (b) Algorithms a) &d: I : (b) TR
(¢) Trial and Error (d) Functional Fixedness ( ) T T Ffe d) g ReRer
88. Which one of the following methods of problems Bﬁjw THRITE D ﬁ'ﬂﬁﬂf@ﬁ faftraf & @F=h
solving gives guarantee of success? L"’ ) T A Awor UM B TR Sl 87
(2) Heuristics method (b) Algorithms method ¢ ’ (a) vae: e fafr b) ToiRem fafer
(c) Backward method (d) Planning method (c) TeaTHT fafer d) e fafer
89. Which type of problem was used by Kohler in 89 \H®IT FHM H WY 3 NI 59 UdR
problem solving? TR PT ganT far e
(a) Verbal material (b) Detour problems a) gnfsgd. At (b) Irgeger TF HHRIY
(¢) Puzzle box (d) None of these R Yeell Houl (d) 379 & HIg el
90. Which problem task is not used in animal subjects 9@ frifd ¥ | D AT TS B Y FA
among following? \ & ?5 fore ST €l faar Sirar 89
(a) Puzzle box (b) Detour problem a) ugell Hol (b) IrUTTeET T HHWITUY
(c) Anagrams (d) Double alternation (C) TARITR d) gevl AR
problem AR
91. Find the missing number in the following - 9 fepefaaa # faga dem s $ifeg —
334 6,6,9; Bx1NA0, oo 12,38,14,21, 2 2,3,4,6,6,9,8,12,10, ..., 12,18, 14, 21,
16, 24 O 16,24
(@ 21 (b) 9 = (@ 21 (b) 9
(¢) 15 (d) 16 (¢) 15 (d) 16
92. Anoopand Sunil areranked seventh andeleventh 92 U @&l & 31 BT § 3™ AR YAl HT HA
respectively  from' the top in the class of 31 W Y FHHIT AT AR TRET £ bar A ey
students. What will be their respective ranks
from the bottom in the class? § ST L HH AT
(a) 20™.and 23 (b) 24t and 20t (a) 2047 3fk 234 (b) 24 ai 3R 2047
(¢) 25t and 21% (d) 26 and 22" (©) 2537 3k 219 (d) 2679 R 227ai
93. The missing fetter in the sequence @, N, K, 2, E 93 31gs" Q N, K, 2, E ¥ I 3R & —
8- (a) L (b) H
(@) L (b) H
©) N (@ p Sk (R
[A-2-24] 153102 Page 12 of 16
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94.

95.

96.

97

98.

99.

100.

Choose the number pair/group which is different
from others -

(a) 8:25 (b) 22:67

(c) 18:73 (d) 15:46

A and B are brother and sister respectively. C is

father of A, D is sister of C and E is mother of D,

then how is B related to E?

(@) Grand daughter (b) Great Grand
daughter

(€) Aunt (d) Daughter

Ifin any code language, LC is written as 6 and TE

is written as 10, then what will be the code %PD
in the same code language? 4
(a) 12 (b) 9 ™
(c) 8 (d) 7

A train of length 140 m is running at a speed of
60 km/hr and a cat is running in the same
direction parallel to the train at a speed of
18 km/hr. The train will cross the catin- 12

(o]
(a) 10 seconds (b) 11 seconds S;:
(C) 12 Seconds (d) IZESeconds (-;é
2 —

Find the correct alternative for the misding

term—
ABC, 6, EFG, 210, lJK, ?.

94.

95.

96.

974

98.

99.

100.

® g/ HIE DI G I 3 W A= 8 —
(a) 8:25 (b) 22:67
(c) 18:73 (d) 15:46

Awam:ﬂﬁsﬁ?aaﬁ%ﬂc,mmﬁm D,
C®! 981 3R E, D 3T 9f &I, &I B, E W 5 GHR
Wsferg g7

(a) e (b) ma=Y

(c) == (d) 9

Ife f&wl ®rs w9T ¥, LC BT 6 T TE T 10
ferar ar 8, 1 S0 @i Wi W PD BT @
T EATT?

(@) 12 (b)
(c) 8 (d)
140 HICR THLAEEI 60 fFH. /99 9 =
W o & B.30Y Ua faeeh 9 Ram # Yo
® AR )18 fh A, /ave & 9 ¥ e <@
2| NSl fdeell &7 U &x onfl —

9
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(@) 10 ¥9HUs ¥ (b) 11 wdvs #
@) 12 FPprs H (d) 12%¢r$ug H
W uE & oy wE fawe s S —
ABC, 6, EFG, 210, IJK, ?

(a) 1000 (b) 190

(c) 990 (d) 999

i a+b=§+§, v a2+ b2 &1 79 & —

(@ o (b) 1

(c) 2 (d) 8

gfe E =5, AMENDMENT = 89 &I, dF SECRETARY
A & —
(@) 114
(c) 115

(b) 100
(d) 112

(@) 1000 (b) 190
() 990 (d) 999 i
a_ b =R

if a+b =;+;,then the value ofaz+bzi§§3_-;

@ o (b) 1 Is}
()

(c) 2 (d) 8 o

If E=5, AMENDMENT = 89, then SECRETARY is

equal to -

(@) 114 (). 100

(c) 115 (dy112
Tp)
Q
0
e
v |
o
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